Raufoss”

wemmy  COUPIINGS

montcada

= montcada

C*za




montcada
EEE Vi

CAMOZZI
I

Raufoss’

DMfit,

i
"5' o -

KONGSBERG Caup/’hgs

uuuuuuuuuuu




Indice

Contents

racoreria en laton // brass fittings 3
- CAMOZZI

valvulas de control // control valves 13
- CAMOZZI

racoreria instantdanea en laton // push-in brass fittings 21
- NORGREN

racoreria en pldstico y laton // plastic and brass fittings 97
- RAUFOSS

adaptadores para diapress // air springs fittings 67
-VOSS

racores de conexion rapida // push-in fittings 69
- DMFIT

racoreria neumdtica // plastic fittings 75

racoreria en laton niquelado // nickel plated fittings 77

kits de racoreria // fittings assorted box 79

conexiones neumdticas // air brake conneciors 89

www.montcada.com




*e’e 0’0 o
Q‘o’ ’0‘0

L )4
0’0

CAMOZZI
[

racoreria en laton

brass fittings

4



BRASS FITTINGS || RACORERIA EN LATON - CAMOZZI

C_Transport

Soluciones para la automocién

El sector del transporte esta en continuo crecimiento,
y se dirige a exigencias cada vez mas complejas y
exclusivas. Camozzi ha implementado una division
propia dentro del grupo llamado C_Transport, para
dar respuesta a esta demanda. Nuestros técnicos y
expertos en desarrollo de producto trabajan en
estrecha colaboracion con el cliente, para estudiar cada
aplicacion, incluso en condiciones medioambientales
extremas tanto en presiones como en temperaturas
se refiere, las cuales podrian afectar al correcto
rendimiento de los componentes.

La gama de racores de |a serie 9000 C-Truck ha
sido disenada y desarrollada para asegurar una
alta fiabilidad y seguridad en el circuito principal
de frenos de los vehiculos industriales.

Solutions for mobile outomotion

The transport sector is growing continuously
and being driven by a demand for solutions that
are increasingly complex and unique. Camozzi
realized its own internal C_Tronsport division, in
which technicians and Business Development
Managers work in partnership with the client to
study the applications even in environmental
conditions which are characterized by extreme
pressures or temperatures, in which external
stress may affect the performances of the
components.

The range of Series 9000 C-Truck fittings has
been designed and developed to ensure high
reliability and safety in the pneumatic broking
systems on industrial and commercial vehicles.

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



BRASS FITTINGS || RACORERIA EN LATON - CAMOZZI

Series 9000 C-Truck fittings

Tubos de poliamida con diametros externos: 4, 6, 8, 10, 12, 15, 16 y 18mm
For polyamide tubes with external diameter : 4, 6, 8, 10, 12, 15, 16 and 18mm

La serie 9000 C-Truck han sido disefiados para aplicarlos en
el circuito principal de freno de los vehiculos industriales.
De este modo se asegura una facil conexién y fiabilidad. El
uso correcto del atil de desconexién permite sacar el tubo
sin necesidad de quitar el racor. Todos los racores tienen un
tapén protector que los mantiene protegidos de humedad y
suciedad en la pinza.

El refuerzointerno asegura el agarre del tubo constantemente,
incluso en caso de bruscos cambios de temperatura. Los racores
C-Truck admiten temperaturas extremas (desde -50°C hasta
100°C). Se ensamblan en un angulo concreto y preciso, y se
suministran con una contratuercay junta torica. Lajunta tdrica
en la rosca esta posicionada de tal manera que evita cualquier
dafio durante el montaje.

El cuerpo de latén garantiza una alta resistencia a la corrosién,
mientras que la junta téricay el tapén protector son de gomay
resistentes a aceites. Aunque la presién varia con la media del
tubo, se puede aplicar un maximo de hasta 16 bar.

Todos los racores se suministran pre montados y por lo tanto
faciles de usar.

DIN 74324:1996

DIN EN IS0 9227:2006
DIN EN 60068-2-6:1996
GOST R 51190-8.

3

=

Series 9000 C-Truck fittings have been designed to connect
tubes in the pneumatic braking systems on industrial and
commercial vehicles, thus ensuring reliability and ease of
assembling. The use of a proper disconnection tool enables
todisconnect the tube without having to remove the fitting.
All fittings have a protective cap that keeps humidity and
dirt away from the collet.

A reinforced insert enables to keep the dimensions of the tube
constant, thus ensuring alight and safe connection evenin case
of high changes in temperature . Indeed, C-Truck fittings can be
used at extreme temperatures (from -50° C to +100° C). They
are assemblied according to a precise angle and supplied with a
locking nut and a self sealing 0-ring. The O-ring on the thread is
set in a special groove of the threaded par!, ensuring there is no
damage during assembly. The body in brass guarantees a high
resistance to corrosion, whilst 0-ring and protective cap are made
from a rubber which is resistant to oils. Even though the working
pressure depends on the tube used, its maximum value is 16 bar.
All fittings are supplied pre-assembled and are therefore ready
touse.

« DIN 74324:1996

« DIN EN IS0 9227:2006
» DIN EN 60068-2-6:1996
+ GOSTR51190-8.

DATOS GENERALES // GENERAL DATA

Materiales Ver tabla de la siguiente pagina
Materials See the table on the next page
Rosca Métrica, NPTF

Thread Metric NPTF

Medio Arie comprimido

Media Compressed air

Max. temperatura de trabajo 16 bar.

Nota: La presion depende de las caracteristicas del tubo.

Max. working pressure 16 bar. Note: Pressure depends on tube characteristics.

Temperatura -50°C + 100°C (ver caracteristicas del tubo)

Temperature -50°C + 100°C (see tube characteristics)

Tubo Material: Poliamida. Diametros del tubo: 4/2, 6/4, 8/6,10/7,10/8,12/9, 15/11,15/12,16/12,16/13 y 18/14.
Tube Material: Polyamide  Tube diameters: 4/2, 6/4, 8/6,10/7,10/8,12/9,15/11,15/12, 16/12,16/13 and 18/14.

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 9



BRASS FITTINGS || RACORERIA EN LATON - CAMOZZI

TABLA DE MATERIALES

MONTAJE DE RACORES EN EL SISTEMA

TABLE OF MATERIALS

SED @0

lew

NUMERO PARTES MATERIALES
NUMBER PARTS MATERIALS
1 Cuerpo Laton
Body Brass
2 Guia Tecnopolimero*®
Insert Technopolymer*
3 Junta NBR
S-rapid O-Ring NBR
a Pinza Laton
Collet Brass
5 Tapon NBR
Protective seal NBR
6 Junta térica NBR
O-Ring for thread NBR
7 Contratuerca Acero
Locking ring Steel

*Laton solo para tubos: 10/7,15/11,16/12, 16/13, 18/14.

FITTINGS ASSEMBLY IN THE SISTEM

Para asegurar el agarre de los racores en el sistema, cerciorarse que el

paso de rosca concuerda con los standard I1SO0965 o GOST 10549-80.

Los racores con junta térica pero sin contratuerca deben ser apretados

de acuerdo con los 'par de apriete' mostrado en la tabla inferior. En

cambio con contratuerca proceder de la siguiente manera:

1. Aflojar la contratuerca.

2. Roscar el racor hasta que la junta térica haga tope con la base del
sistema.

3. Posicionar el racor en el angulo apropiado, pudiendo girarlo 360°.

4. Mantener el cuerpo fijado.

5. Roscar la contratuerca seglin el par de apriete indicado en la tabla.

To guarantee the tightening of the fitting in the system, make sure

that the thread chamfer conforms to the standard 1SO 965 or GOST

10549-80. The fittings which have an 0-Ring seal on the thread , but

no locking nut, have to be screwed into the system with the torque

forces as shown in the table below. For the assembly of fittings with

locking nut, it is necessary to do the following :

1. Loasen the locking nut.

2. Screw the fitting into the system until the 0-ring comes into
contact with the system surface.

3. Position the fitting according to the suitable angle, moving the
body up to 360°.

4. Keep the body still.

5. Screw the locking nut with torque forces as shown in the table.

Rosca Par de apriete (Nm)
Thread Troque force (Nm)
M10x1 11-15
M12x1.5 15-19
M14x1.5 19-23
M16x1.5 24-30
M18x1.5 27-33

“Brass only for @ 10/7, 15/11, 16/12, 16/13, 18/14. M22x1.5 36-44
MONTAJE Y DESMONTAJE // ASSEMBLY AND DISASSEMBLY

El tubo ha de ser introducido en el racor (A) a lo largo de la longitud H. ®

Se recomienda marcar el tubo para comprobar la conexién en su
totalidad. Para asegurar la conexion total el largo del tubo (cota L)
debera estar dentro del racor completamente, y sin ningin defecto
(B). Cortar el tubo correctamente, para ello aconsejamos utilizar nuestro
cortatubos. El angulo entre el tubo y el racor no deberia exceder los 5° (C).

The tube needs to be inserted into the fitting up to the insert stop (A)
for the whole length H. It is recommended that you mark the tube to
indicate that it has been fully inserted into the fitting. To guarantee
the tube seal with the fitting, it is necessary that the end of the tube
that has been inserted for the whole length L is free from any form of
damage (B). To cut the tube end properly, it is recommended that you
use the tube cutting tool mod. PNZ. The angle between the tube and
the fitting should not be greater than 5° (C).

@ exterior/interior Longitud H (mm) Longitud L (mm)
Out/In @ Length H (mm) Length L (inm)
4/2 18.5 9.5
6/4 17.5 5.5
8/6 19.5 9.5
10/7 21 1
10/8 21 il
12/9 21.5 1
15/1 25 1.5
15/12 25 11.5
16/12 27.5 13
16/13 27.5 13
18/14 27.5 13

H E /
N © o
<
oK =
-
1

NO

OK

Para sacar el tubo es necesario utilizar el uatil de
desconexion (1). No debe haber aire en el sistema al
realizar esta operacién. Mantener el atil presionado y
a lavez tirar del tubo hacia fuera (2). De este modo se
desconecta el tubo del racor. El montaje y desmontaje
debe ser llevado a cabo por un técnico que cuenta con
el conocimiento necesario en el disefio de racores.

To disconnect the tube it is necessary to push the fittings
protective cap using the special disconnection tool (1).
First make sure there is no air present inside and then
press the protective cap in towards the fittings body (2).
The tube can then be removed from the fitting. Tube
assembly and disassembly must be carried out by a
technician who has a detailed knowledge of the fittings
construction.

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



BRASS FITTINGS || RACORERIA EN LATON - CAMOZZI

ADAPTADOR MACHO
Straight fittings
F
A
A
SW
TN\
_, b
1
II
!
D
- G -
Referencia A D F G H L sw e =
Code
9512 6-M10x1 6/4 M10x1 13.8 15 7 27.5 14 18 10
9512 6-M12x1,5 6/4 M12x1,5 13.8 15 8.5 26 14 17 10
9512 6-M14x1,5 6/4 M14x1,5 13.8 15 8.5 25 14 18 10
9512 6-M16x1,5 6/4 M16x1,5 13.8 17 8.5 19.5 14 18 10
9512 8-M10x1 8/6 M10x1 16.5 18.5 7 30 17 27 10
9512 8-M12x1,5 8/6 M12x1,5 16.5 18.5 8.5 30.5 17 27 10
9512 8-M14x1,5 8/6 M14x1,5 16.5 18.5 8.5 27.5 17 25 10
9512 8-M16x1,5 8/6 M16x1,5 16.5 18.5 8.5 27 17 29 10
9512 8-M22x1,5 8/6 M22x1,5 16.5 23.5 8.5 21 19 39 10
9512 10/7-M12x1,5 10/7 M12x1,5 17.8 19.5 8.5 BEA5 18 29 10
9512 10/7-M16x1,5 10/7 M16x1,5 17.8 19.5 8.5 28 18 27 10
9512 10/7-M22x1,5 10/7 M22x1,5 18.5 23.5 8.5 22.5 19 36 10
9512 10-M12x1,5 10/8 M12x1,5 17.8 19.5 8.5 335 18 29 10
9512 10-M16x1,5 10/8 M16x1,5 17.8 19.5 8.5 28 18 27 10
9512 10-M18x1,5 10/8 M18x1,5 17.8 19.5 8.5 28 18 31 10
9512 10-M22x1,5 10/8 M22x1,5 18.5 23.5 8.5 22.5 19 36 10
9512 12-M12x1,5 12/9 M12x1,5 19.8 21.5 8.5 34 20 32 10
9512 12-M14x1,5 12/9 M14x1,5 19.8 21.5 8.5 33.5 20 35 10
9512 12-M16x1,5 12/9 M16x1,5 19.8 21.5 8.5 32.5 20 36 10
9512 12-M22x1,5 12/9 M22x1,5 20.5 24 8.5 23 22 37 10
9512 15/11-M16x1,5 15/ 1 M16x1,5 23.8 26.5 8.5 375 24 52 10
9512 15/11-M22x1,5 15/ 1 M22x1,5 23.8 26.5 8.5 30.5 24 49 10
9512 15-M16x1,5 15/ 12 M16x1,5 23.8 26.5 8.5 375 24 52 10
9512 15-M22x1,5 15/ 12 M22x1,5 23.8 26.5 8.5 30.5 24 49 10
9512 16/12-M16x1,5 16/ 12 M16x1,5 25 30 8.5 41 27 VAl 10
9512 16/12-M22x1,5 16/ 12 M22x1,5 25 30 8.5 33.5 27 67 10
9512 16-M22x1,5 16/ 13 M22x1,5 25 30 8.5 335 27 67 10
9512 18-M22x1,5 18/ 14 M22x1,5 26.8 30 8.5 38.5 27 71 10

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 11




BRASS FITTINGS || RACORERIA EN LATON - CAMOZZI

CODO ORIENTABLE
Elbow fittings

Refg’e“‘ia A C D E F H M SW Swi st o
ode
9502 6-M10x1 6/4 5 M10x1 21 14.5 5 22.5 9 14 24 10
9502 6-M12x1,5 6/4 7 M12x1,5 23.5 14.5 7.5 22.5 9 17 28 10
9502 6-M16x1,5 6/4 7.5 M16x1,5 25 14.5 7 23 M 19 37 10
9502 8-M10x1 8/6 5 M10x1 22 16.5 5 25 1 14 29 10
9502 8-M12x1,5 8/6 7 M12x1,5 25 16.5 7.5 25 n 17 35 10
9502 8-M14x1,5 8/6 7 M14x1,5 25 16.5 7.5 25 1 19 37 10
9502 8-M16x1,5 8/6 7.5 M16x1,5 25 16.5 7 25 n 19 36 10
9502 8-M22x1,5 8/6 8.5 M22x1,5 29 16.5 8 25 1 27 58 10
9502 10/7-M12x1,5 10/7 7 M12x1,5 26 18.5 75 27 13 17 43 10
9502 10/7-M16x1,5 10/7 7.5 M16x1,5 26 18.5 7 27 13 19 45 10
9502 10/7-M22x1,5 10/7 8.5 M22x1,5 29 18.5 8 27 13 27 66 10
9502 10-M12x1,5 10/8 7 M12x1,5 26 18.5 7.5 27 13 17 43 10
9502 10-M16x1,5 10/8 7.5 M16x1,5 26 18.5 7 27 13 19 45 10
9502 10-M22x1,5 10/8 8.5 M22x1,5 29 18.5 8 27 13 27 66 10
9502 12-M12x1,5 12/9 7 M12x1,5 27 20.5 7.5 28.5 15 17 51 10
9502 12-M16x1,5 12/9 7.5 M16x1,5 27 20.5 7 28.5 15 19 50 10
9502 12-M22x1,5 12/9 8.5 M22x1,5 30 20.5 8 28.5 15 27 71 10
9502 15/11-M16x1,5 15/11 7.5 M16x1,5 30.5 24.5 7 34 18 19 81 10
9502 15/11-M22x1,5 15/1 8.5 M22x1,5 34 24.5 8 34 18 27 99 10
9502 15-M16x1,5 15/12 7.5 M16x1,5 30.5 24.5 7 34 18 19 81 10
9502 15-M22x1,5 15/12 8.5 M22x1,5 34 24.5 8 34 18 27 99 10
9502 16/12-M16x1,5 16/12 7.5 M16x1,5 32 25 7 35.5 21 19 108 10
9502 16/12-M22x1,5 16/12 8.5 M22x1,5 33 25 8 35.5 21 27 19 10
9502 16-M22x1,5 16/13 8.5 M22x1,5 33 25 8 35.5 21 27 19 10
9502 18-M22x1,5 18/14 8.5 M22x1,5 33 27.5 8 35.5 21 27 123 10

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

12 www.montcada.com




BRASS FITTINGS || RACORERIA EN LATON - CAMOZZI

TE ORIENTABLE EN BASE
Tee fittings

N
Ve T e

Referencia A ¢ D E F H M SW swi it =
ode
9412 6-M10x1 6/4 5 M10x1 22 14.5 5 22.5 9 14 35 10
9412 6-M12x1,5 6/4 7 M12x1.5 27 14.5 7.5 23 1 17 52 10
9412 6-M16x1,5 6/4 75 M16x1.5 27 14.5 7 23 1 19 55 10
9412 8-M12x1,5 8/6 7 M12x1.5 27 16.5 7.5 25 1 17 53 10
9412 8-M16x1,5 8/6 7.5 M16x1.5 27 16.5 7 25 M 19 57 10
9412 8-M22x1,5 8/6 8.5 M22x1.5 32 16.5 8 26.5 15 27 94 10
9412 10/7-M12x1,5 10/7 7 M12x1.5 29 18.5 7.5 27.5 15 17 79 10
9412 10/7-M16x1,5 10/7 7.5 M16x1.5 29 18.5 7 27.5 15 19 81 10
9412 10/7-M22x1,5 10/7 8.5 M22x1.5 32 18.5 8 27.5 15 27 101 10
9412 10-M12x1,5 10/8 7 M12x1.5 29 18.5 7.5 27.5 15 17 79 10
9412 10-M16x1,5 10/8 7.5 M16x1.5 29 18.5 7 27.5 15 19 81 10
9412 10-M22x1,5 10/8 8.5 M22x1.5 32 18.5 8 27.5 15 27 101 10
9412 12-M12x1,5 12/9 7 M12x1.5 29 20.5 7.5 28.5 15 17 72 10

9412 12-M16x1,5 12/9 75 M16x1.5 29 20.5 7 28.5 15 19 74 10

9412 12-M22x1,5 12/9 8.5 M22x1.5 32 20.5 8 28.5 15 27 93 10

9412 15/11-M16x1,5 15/ 11 75 M1ex1.5 325 245 7 34 18 19 15 10

9412 15/11-M22x1,5 15/ 1 8.5 M22x1.5 34 24.5 8 34 18 27 134 10

9412 15-M16x1,5 15/12 75 M1ex1.5 325 245 7 34 18 19 15 10
8

9412 15-M22x1,5 15/12 8.5 M22x1.5 34 24.5 34 18 27 134 10

PASAMUROS

Bulckhead connectors

|
LP
1a

1

Referencia h h1
Code D D1 d d1 H H1 (min) (min)

D2512 M22x1,5-M16x1,5 M22x1.5 M16x1.5 M16x1.5 M10x1 8 85 10.5 105 85 85 48 27 22 78 10
D2502 M22x1,5-M22x1,5 M22x1.5 M22x1.5 - = |gEE = = 85 85 27 24 77 10 10

C €1 L SW swi 42 T3

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 13




BRASS FITTINGS || RACORERIA EN LATON - CAMOZZI

TE ORIENTABLE EN LADO
Tee fittings

Refgre"‘ia A C D E F H L M SW swi it =
ode

9422 6-M10x1 6/4 5 M10x1 22 14.5 5 445 225 9 14 35 10
9422 6-M12x1,5 6/4 7 M12x1.5 27 14.5 7.5 50 23 n 17 52 10
9422 6-M16x1,5 6/4 7.5 M16x1.5 27 14.5 7 50 23 n 19 54 10
9422 8-M12x1,5 8/6 7 M12x1.5 27 16.5 7.5 52 25 n 17 54 10
9422 8-M16x1,5 8/6 75 M16x1.5 27 16.5 7 52 25 n 19 57 10
9422 8-M22x1,5 8/6 8.5 M22x1.5 32 16.5 8 58.5 26.5 15 27 95 10
942210-M16x1,5 10/8 75 M16x1.5 29 18.5 7 56.5 27.5 15 19 81 10
9422 10-M22x1,5 10/8 8.5 M22x1.5 32 18.5 8 59.5 27.5 15 27 102 10
9422 12-M12x1,5 12/9 7 M12x1.5 29 205 75 575 28.5 15 17 73 10
9422 12-M16x1,5 12/9 7.5 M16x1.5 29 20.5 7 575 28.5 15 19 72 10
9422 12-M22x1,5 12/9 8.5 M22x1.5 32 20.5 8 60.5 28.5 15 27 95 10
9422 15-M16x1,5 15/12 7.5 M16x1.5 32.5 245 7 66.5 34 18 19 17 10
9422 15-M22x1,5 15/12 8.5 M22x1.5 34 24.5 8 68 34 18 27 134 10

UNION IGUAL
Connectors

L
e g >

Refg;;relcla A F L e =
9580 6 6/4 14 375 20 10
9580 8 8/6 16 41 27 10
958010 10/8 18 44 32 10
958010/7 10/7 18 44 32 10
9580 12 12/9 20 455 43 10
9580 15/1 15/ 11 24 52 87 10
9580 16/12 16/12 25 58 100 10
958018 18/ 14 27 57 109 10

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

14 www.montcada.com




BRASS FITTINGS || RACORERIA EN LATON - CAMOZZI

TE IGUAL
Tee fittings

Re%’e“‘ia A Al E F  F L M Ssw it =4
ode
9540 6 6/4 6/4 22.5 14.5 14.5 45 22.5 9 35 10
9540 8 8/6 8/6 25 16.5 16.5 50 25 1 52 10
954010 10/8 10/8 275 18.5 18.5 55 275 15 80 10
954010/7 10/7 10/7 27.5 18.5 18.5 55 27.5 15 80 10
954012 12/9 12/9 28.5 20.5 20.5 57 28.5 15 73 10
9540 15/1 15/1 15/ 11 34 24.5 24.5 68 34 18 134 10
954 08-8-6 8/6 6/4 23 16.5 14.5 50 25 n 49 10
9540 12-12-8 12/9 816 26.5 20.5 16.5 57 28.5 15 72 10

UTIL DE DESCONEXION
Tube disconnecting key

Referencia) G H L afe =
DRK 6 6 25 6 19 1 10
DRK 8 8 28.5 7 20 1 10
DRK 10 10 30.5 9 22 2 10
DRK 12 12 33 9 23 3 10
DRK 15 15 36 10 27 3 10
DRK 16 16 37 10 27.5 4 10
DRK 18 18 40 12 31 5 10

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 15




BRASS FITTINGS || RACORERIA EN LATON - CAMOZZI

NOTAS / NOTES

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

16 www.montcada.com




//.

“”

.

€<

CAMOZ1ZI
]

valvulas de control

control valves

4



CONTROL VALVES || VALV
Valvulas de control // Control valves

VALVULA 3/2 ViAS
3/2 - way valve

vPo1

2:I
12007 “4i3)T T3

; l /

G1/4 | A fr
l e | [Tj N\ i .
I | | e
@ i | . ‘@ ﬂ cf
o : 2 N7E) [T ____I__‘_._ T —
U |1J;%ﬂ [ 4 ] = 3 | @
s Qs 5|7 © | -
J | w N 0

Caudal Presion min Presion de
Referencia Montaje Funcién NI/min pil.(bar) trabajo(bar) , 0 o ¢« 0 E F ¢ H I L MN O P S T U 2

Code Assembly  Function  Flow  Min. pilot ~ Operating
NI/min press. (bar) pressure (bar)

utilizacién
338-035 individual 3/2N.C. 700 3 bar - G1/8 G1/8 5 3,2 - 57 18 214 18 214 698 22 - 1,5 32 304 - - -
in-line

sobre
338L--035 Ccolector 3/2N.C. 700 3 bar - G1/8 G1/8 - 3,231,457 18 214 - 214 69,8 22 174 11,5 32 304 - - -

on manifold

utilizaciéon
334-035 individual 3/2N.C. 1300 3 bar - c/4 - 41 - - - 22 2142224 73 22 - 16 40 324 M548,5 8
in-line

VALVULA 3/2 ViAS

3/2 - way valve

97 Presion de Caudal

Refcer;m:ia trabajo (bar) NI/min acci;:aer:'lzi:::o (N) Simb;I;:
ode Operating Flow ; Symbo
11,5 pressure (bar)  NI/min Azt (1)
, L Ll ] 338-910  -0.9+10 700 6 VNO3
w = - ]
X1 |_- I
o —eif -

338-915 -0.9+10 700 35 VNO6

| p—
g
6L MS

8719

1

ED
|

Y ||:E[ = 2 2
©a = 10(12)
= VNO3 VNOG
21,4 | 18 37 120100 103 13 120100 11 1301

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

18 www.montcada.com




CONTROL VALVES || VALVULAS DE CONTROL - CAMOZZI

Valvulas de control // Control valves

VALVULA 3/2 ViAS
3/2 - way valve

Presionde  Caudal

10-:12I) 2 Referteincia trabajo (Par) NI/min accioF::r:-lzi::teo (N)
VYNOS Gzt Operating Flow Actuating force (N)

_M16x1_ 12000 3l 3 presure (bor)  NImin
338-990 -0.9+=10 700 18
>
P 105
4
or— |
. T
-u-_ t_rs _ B :
G1/8 = - ofte-|-M
16 - ]&
18 ,20,5

VALVULA 5/2 ViAS
5/2 - way valve

&

=
>
%

‘! »

°
&
O

U

D
C

.

F

TR
L

L 0 (&) i o
N 0
rs
M P
Caudal Presion min
Referencia Montaje Funupn NI/min pil. (bar) M B C D E F G H I L M N O P S T U 2
Code Assembly Function  Flow  Min. pilot
NI/min press. (bar)
utilizacién
individual/
358-035 colector 3/2N.C. 700 3 bar G1/8C1/8 5 3,2 314 23,8 36 214 18 304 878 22 174 M5 32 304 - - -
in-line/
on manifold
utilizacién
individual/
354-035 colector 3/2N.C. 700 3 bar G1/4 - 471 32 36 254 44 214 22 304 95 25 21 16 40 324 M5 70,5 8
in-line/

on manifold

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 19




Valvulas de control // Control valves

VALVULA 5/2 ViAS
5/2 - way valve

15

67

18

VALVULA 5/2 ViAS
5/2 - way valve

Presion de

Caudal

Referencia trabajo (bar) NI/min acci;:::rll;zi:::o (N) Simbolo
Code Operating Flow ; Symbol
pressure (bar)  NI/min Azt e (W)
358-910 -0.9+10 700 6 VN13
358-915 -0.9+10 700 35 VN14

3

2 4
3 i

14 51

2
e
113

M16x1

q »]

QL A
—— G1/8
S
i o
ir =
] | 1

t w—
[ &~

ELECTROVALVULA 3/2 ViAS

3/2 - way solenoid valve

Presionde  Caudal
Referencia trabajo (bar) NI/min
12 h : Code Operating Flow
WEMﬁ pressure (bar)  NI/min
Sl 13 wwis
358-990 -0.9+10 700
123
. _18__29,5_
— w
A1
< v
18

Fuerza de
accionamiento (N)

Actuating force (N)

18

126~

Caudal Presiéon min
Referencia  Montaje  Funcion NI/min  pil. (bar) Simbolo
Code Assembly  Function  Flow Min. pilot ~ Symbol
NI/min  press. (bar)
utilizacion
338-015-02 individual 3/2 N.C. 700 2+10 L
in-line
sobre colector
338L-015-02 . 3/2N.C. 700 2+10 L
on manifold
utilizacién
348-015-02 individual 3/2N.O. 700 2+10 N
in-line
sobre colector
348L-015-02 3/2N.0. 700 2+10 N

on manifold

Las Electrovalvulas de la Serie 3 de 3/2 vias de G1/8 con accionamiento
electroneumatico y reposicionamiento con muelle mecanico, se han
realizado en la version NC (cerrada) y NA (abierta).

These solenoid valves, which have electropneumatic actuation and spring return,

are available in the NC (closed) or NO (open) version.

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

20

www.montcada.com




23

Valvulas de control // Control valves

ELECTROVALVULA 3/2 VIiAS
3/2 - way solenoid valve

Caudal Presion min
Referencia  Montaje  Funcion NI/min  pil. (bar)

©37, 4 > Code Assembly  Function — Flow Min. pilot
} NI/min  press. (bar)
o - ]
~ a’ Eﬂ:l utilizacion
3 338-011-02  individual 3/2 700 2+10
ES in-line
sobre colector
338L-011-02 i 3/2 700 2+10
163.8 on manifold
g Las Electrovalvulas de la Serie 3 de 3/2 vias de G1/8 con
39,4 18, % accionamiento y reposicionamiento electroneumatico realizan
la funcién de NC (cerrada) o NA (abierta) con referencia al ultimo
L i T impulso recibido.
[+ i 1 {
o L @ -
t T 24 . These solenoid valves, which have electropneumatic actuation and
o ] - return, assume the NC (closed) or NO (open) position depending
o on the last pulse received.
35,4 18 o
191~

ELECTROVALVULA 5/2 VIAS
5/2 - way solenoid valve

Caudal Presionde Presion min

Referencia  Funcién NI/min trabajo (bar) pil. (bar) Simbolo
wy | Code Function Flow Operating ~ Min. pilot ~ Symbol
] NI/min  pressure (bar) press. (bar)
= 5 338D-015-02 2x3/2N.C. 700 2,5+10 - EV39
1,
© @
'_" < 348D-015-02 2x3/2N.0. 700 2,5+10 - EV41
-+
q_--:
*.
!
338D-E15-02 2x3/2N.C. 700 -0,9+10 2,5+10 EV40
348D-E15-02 2x3/2N.0. 700 -0,9+10 2,5+10 EV44
1x3/2N.C.
398D-015-02 + 700 2,5:10 - EV43
1x3/2N.0.
1x3/2N.C.
398D-E15-02 + 700 -0,9+10 2,5+10 EV42
1x3/2N.O.

£V39 FVi0 Las Electrovalvulas de Ia serie 3 de G1/8 son disponibles en las versiones con 2

| 4 2 | ! 4 2 ) valvulas 3/2 en el mismo cuerpo valvula.
I 1 I 31 1 12 | Tsen 3l [un These solenoid valves are available in versions with 2 x 3/2 valves in the same valve.
: L11m 5 1901

EVés EVés
. i ,  Ew g the 2 . | 2 !
A e wh LA ]Zl:ﬁ X ﬂﬂiﬂmﬂ}‘“‘sm ] M‘E}%m]
10 1115 : ER L 10 3 10(12) 10014) 1 00121

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 21




CONTROL VALVES || VALVULAS DE CONTROL - CAMOZZI
Valvulas de control // Control valves

ELECTROVALVULA 5/2 ViAS
5/2 - way solenoid valve

Caudal Presionde Presion min
Refervencia  Funcién NI/min trabajo (bar) pil. (bar) Simbolo

“ 2 EVI9 Code Function Flow Operating ~ Min. pilot ~ Symbol
l'l—‘ﬁ NI/min  pressure (bar) press. (bar)
n- T T
U sl 13
358-015-02 5/2 700 2,5+10 - EV18
; L |2 1174}
'Eb [T‘ Is | TB 358-E15-02 5/2 700 -0,9+10 2,5+10 EV19
\ 4 2 Evig
M[[ j I 358-016-02 5/2 700 2,5+10 - EV21
1 5013
Las Electrovalvulas de la serie 3 de 5/2 vias de G1/8 con accionamiento
130 4 electroneumatico y reposicionamiento con muelle mecanico o neumatico,
! son aptas para mandar cilindros de doble efecto.
21,4 36 These solenoid valves, which have electropneumatic actuation and spring return, are
< suitable for operating double-acting cylinders.
= &
o
EIoETaL 23.8
& |- &
| J F
i) — PR
| ] C
)
30,418 o — .
x
- s (o)
144 . i

VALVULA 3/2 ViAS
3/2 - way valve

Caudal Presion de F d
Referencia NI/min trabajo (bar) accio::t:iziaenfo(N) Simbolo

1001 5
012) 2 Code Flow Operating A tuating force (N) Symbol
] NI/min  pressure (bar)
VYNOB
1220000 w3l I

338-300 700 -0,9+10 5 VNO8

2
c\:ﬂ;@«w yNT1
20100 1l T3
338-905 700 -0,9+10 22 VN1

M.

~
r~
o~
o]
w . 0
@0 —

N\ss

11,5

32 88

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

22 www.montcada.com




CONTROL VALVES || VALVULAS DE CONTROL - CAMOZZI
Valvulas de control // Control valves

VALVULA 5/2 ViAS

5/2 - way valve

Caudal Presion de

Referencia NI/min trabajo (bar) accioFrln‘ae:iae:te°(N) Simbolo
Code Flow Operating ; Symbol
12 & |2 NI/min  pressure (bar) Actuating force (N)
1
mw._# UN16
>N 3 358-300 700 -0,9+10 5 VN16
b 2
15‘:@1&»&‘! VNT7
> 13 358-905 700 -0,9+10 22 VN17
SW 19
M16x1 !
. |
-+
,‘9; -
{ B Vi o
o) 1
© 8i3 2
—@
/|
11,5
) 88

VALVULA 5/3 ViAS
5/3 - way valve

Caudal Presion de

Referencia NI/min trabajo (bar) acci::aer;zi::teo (N)
[ 2 Code Flow Operating ;
12 1 NI/min  pressure (bar) Actuating force (N)
1 I sl o I |
slhl 13

368-900 700 -0,9+10

55

22 Gi/8
L. 28 ] 88

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 23




CONTROL VALVES || VALVULAS DE CONTROL - CAMOZZI

Valvulas de control // Control valves
RACORERIA LATON NIQUELADO Nickel plated fittings

CODO GIRATORIO BSP ADAPTADOR MACHO BSP
Male elbow swivel BSP BSP male connector

Referencia Rosca @ exterior
Code Thread O/D

A1016-1/4 G1/4 6
A1016-1/8 G1/8 6
A1018-1/4 G1/4 8
A1018-1/8 G1/8 8

Referencia Rosca @ exterior SILENCIADOR
Code Thread O/D .
Silencer
A1216-1/4 G1/4 [

A1216-1/8 G1/8 Referencia Rosca

b6
Code Thread
A1218-1/4 G1/4 3
A1218-1/8 G1/8 8 SRE14 /4
SRE 18 1/8

RACORERIA NEUMATICA Pneumatic fittings

ADAPTADOR MACHO BSPT @ ADAPTADOR MACHO BSP BOBINA
BSPT male connector BSP male connector Solenoid coil
Referencia Referencia Referencia Voltios
Code Code Code Volts
PC 0601 PCG 0601 G77 24
PC 0602 PCG 0602 u77 24/48
PC 0801 PCG 0801
PC 0802 PCG 0802
CODO GIRATORIO BSPT CODO GIRATORIO BSP NOMENCLATURA
BSPT swivel elbow BSP swivel elbow AN OAB/IEN CCLATURE
Referencia Referencia e N M
Code Code A Modelo B Diametro tubo CMedida rosca
PL 0601 PLG 0601 CODIGO [f04" 06 |08 [ 10 [12 [ 16
Digmetrotubomm | 4 | 6 | 8 |10 | 12 | 16
PL 0602 PLG 0602 — S - R - — S
CODIGO [07T [ 02 [ 03 [ 04 ]
PL 0801 PLG 0801 Medida rosca | R1/81 R1/4" R3/8"| R1/2"
PL 0802 PLG 0802 T
@ TUBO 04-06-08-10-12-16
Tubo PU + 0,02

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




S\

(L) NORGREN

racoreric
instantanea en laton

push-in brass fittings

./ /, >



PUSH-IN BRASS FITTINGS || RACORERIA INSTANTANEA EN LATON - NORGREN

Caracteristicas Features

» Conexion y desconexion del tubo simple. * Simple tube connection and disconnection.
No necesitan herramientas. No tools required.

* Menos componentes. * Fewer component parts.

* Facil identificacion. Todos los pulsadores de * Easy identification.
desconexion estan marcados con el diametro del tubo. All collects marked with tube size.

* Solucién global para el conexionado en vehiculos. * Corrosion resistant.

* Los reducidos tiempos de montaje y mantenimiento ~ *Reduced assembly and maintenance times provide
proporcionan un ahorro de tiempo / trabajo. time/labour savings.

» Mayor fiabilidad y reduccién de pruebas. * Greater reliability and reduced testing.

* Facilidad de montaje deltuboenzonasdeaccesorestingido. ¢ Ease of tube insertion in areas of restricted access.

* Se ajustan a legislacién y normas del sector del automévil. < Internal tube support as standard for greater safety.

REFUERZO INTERNO

ANCLAJE MULTIDIENTES  Rigid tube support m
Multi-tooth collect TOPE PARA EL TUBO
Tube Stop

ANILLO CROMADO
Nickel plated brass collect

ROSCA TEFLONADA
Pre-aplied thread sealant

JUNTA DE NITRILO “0” RING
Low nitrile “O” ring

CUERPO EN LATON
Brass body

PULSADOR

Lead in chamfer MARCADOR DE LAS
DIMENSIONES DEL TUBO
Tube O/D marked on collect

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

26 www.montcada.com



PUSH-IN BRASS FITTINGS || RACORERIA INSTANTANEA EN LATON - NORGREN

Datos técnicos

FLUIDO:
« Aire comprimido.

PRESION MAXIMA DE TRABA]O:
« 0 210 bar (0 a150 psi).

TEMPERATURA DE TRABA)O:
« -40°C a100°C (-40°F a 212°F).

MATERIALES:
« Cuerpo((rectos), tuboguia, pulsadordedesconexion,
latén BS 2874 CZ 121.
« Cuerpo (codos, “T") - latén BS 2874 CZ 122.
* Junta térica: Perburan N.
* Sellante rosca: precoat 5.

TUBO:
o El tubo deberia ser segun DIN 74324.
» Tamanos de tubo - tubo 6mm - 16mm 0/D.
e Tamaros de tubo-1/4 -3/4 0/D.

NORMAS Y LEGISLACION:

» Racores y tubos cumplen con las normas de
seguridad de vehiculos a motor federales del
Departamento de Transporte (DOT FMVSS 106)
(requisitos obligatorios para racores y tuberias
en pulgadas en EEUU).

 Sociedad para Ingenieros del Automovil SAE
J1131 (tuberias y racores en pulgas).

» Homologacion TUV alemanay DIN 74324
(racores y tuberias métricos).

APLICACIONES:

* Como elemento de conexion sobre todos los
sistemas de freno neumatico y otros lugares
como entre la estructura del chasis y eje o entre
remolque y vehiculo remolcador. También como
un conector en todos los sistemas neumaticos
tales como suspensién, motor, transmision vy
sistemas auxiliares.

RACORES GIRATORIOS:
* La caracteristica de giro debe utilizarse sélo
para posicionamientoy no como articulaciones
giratorias.

Technical Data

MEDIUM:
* Compressed air.

MAXIMUM WORKING PRESSURE:
« 0to 10 bar (0 to 145 psi).

AMBIENT/MEDIA TEMPERATURE:
* -40 to +100°C (-40 to +212°F).

MATERIALS:
* Body (straights), tube support,
collet: brass BS 2874 CZ 121.
* Body (elbows, tees): brass BS 2874 CZ 122.
* ‘0’-ring: buna N (low NBR).
» Thread sealant: precoat 5.

TUBING:
e Tube should be to DIN 74324.
e Tube size - tube 6mm - 16mm 0O/D.
e Tube size-1/4-3/4 O/D.

STANDARDS AND LEGISLATION:

* Fittings and tubing comply to department of
transport Federal motor vehicle safety standard,
(DOT FMVSS 106) (mandatory requirements for
Inch tube fittings in U.S.A.).

 Society for automotive engineers SAE 1131
(inch tube and fittings).

» German TUV approval and DIN 74324
(metric tube and fittings).

SWIVEL FITTINGS:
* The swivel feature should be used for positioning
purposes only and should not be used as a
rotating joint.

ADDITIONAL RANGES:
* The selection of metric fittings listed in this catalogue
form part of a wider range of vehicle push-in fittings
for further details consult Norgren Technical service.

L]

+ Seconsidera siempre el diametro externo del tubo 0/D.
o Itis always refers to the outside diameter of the tube. O/D
L]
L]

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com




PUSH-IN BRASS FITTINGS || RACORERIA INSTANTANEA EN LATON - NORGREN

UNION IGUAL (métrica/pulgadas) UNION REDUCIDA
Equal straight connector (metric/inches) Reducing straight connector
‘ o4
[ B [ A
[ A [ o
| - |
| . | |
|
| |
| | o
| |
[ O [
| |
| |
| |
| T | B
| A
| Referéncia @ TuboA-B @ TuboC D
Code @ Tube A-B @ Tube C
Referéncia @ TuboA @ TuboB C 97450447 8-6 15.0 38,5
Code O Tube A @ Tube B 97450448 10-6 14.5 43,5
100200400 4mm 8.0 31,7 97450456 10-8 16.8 43,3
37450304 6mm 13.0 35,6 97450457 12-8 18.0 48,5
37450305 gmm 15.0 376 97450464 12-10 20.5 49,0
37450313 Imm 17.0 44,1 97450496 14-12 205 51,4
37450306 10mm 17.0 44,1 97450497 16-14 25.5 55,8
97450336 TImm 19.0 46,1
97450307 12mm 20.5 51,1
97450392 14mm 22.0 50,2 TE IGUAL
97450315 15mm 25.4 61,5 Eoual
97450308 16mm 254 61,5 qual tee connector
94450303 3/16” 13.0 35,9
94450304 1/4" 11.0 35,6
94450306 3/8” 14.5 44,1
94450307 1/2" 18.0 51,1
94450308 5/8” 25.4 61,5

CODO IGUAL

Elbow connector

<< ) H—L -

A, LA
B B
Referéncia @ TuboA @ TuboB C Referéncia @ TuboA @ TuboB C D
Code @ Tube A @ Tube B Code @ Tube A @ Tube B
97451104 6mm 13.0 21,0 97451404 6 13.0 42,0 21,0
97451105 8mm 15.0 22,8 97451405 8 15.0 45,6 22,8
97451113 9mm 17.0 271 97451413 9 14.0 54,2 271
97451106 10mm 17.0 271 97451406 10 17.0 54,2 271
97451136 1mm 20.5 29,5 97451436 n 16.0 59,0 29,5
97451107 12mm 20.5 321 97451407 12 20.5 64,2 3211
97451115 15mm 27.0 38,5 97451415 15 27.0 77,0 38,5
97451108 16mm 27.0 39,0 97451408 16 27.0 78,0 39,0

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

28 www.montcada.com




Conexion/desconexion del tubo // Method of assembly

Asegurarsequeel extremodel tubo
esta cortado perpendicularmente
y libre de rebabas.

Empujar el tubo a través del
pulsador de desconexién dentro
del racor.

Apretar el tubo firmemente a través
de la junta térica hasta el tope tubo
y después tirar hacia atras.

Para desconectar - Primero asegurarse

Ensure that the end of the tube is
cut quare and is free from burrs.

Push the tube through the collet
into the fitting.

Continue pushing the tube
through the ‘O’-ring until it
bottoms on the tube stop. Then
pull back on the tube to reinforce
the collet teeth gripping action.

To disconnect - first ensure there
is no air present. Push the tube

de que no hay aire en la linea. Pulsar

la arandela de desconexién vy tirar
del tubo.

Funciones de los componentes

CUERPO

Y

— i
TUBO GUIA JUNTA TORICA TOPE TUBO
S

—

PULSADOR DE
DESCONEXION

e Cuerpo.- El cuerpo esta mecanizado internamente
para poder fijar el pulsador de desconexién, junta(s)
torica(s) del tubo. Ademas, el cuerpo esta roscado
externamente en uno de los extremos, para facilitar las
conexiones.

e Pinza.- La funcién de la pinza es sujetar el tubo
y asegurar que la misma lo retenga. La pinza de
desconexion tiene como propésito liberar el tubo de la
accion de esta.

e Junta térica.- La junta térica es para asegurar la
estanqueidad adecuada entre el tubo y el cuerpo del
racor.

e Soporte tubo.- El soporte del tubo impide las condiciones
de sobrecarga de tensién extrema mientras se aprieta el tubo.
Dichas condiciones se consigue s6lo durante las pruebas
realizadasy es extrafio exceder estos limites en el uso normal.

into the fitting until it bottoms on
the tube stop. Then hold down the
collet and withdraw the tube.

Component functions

BODY

Y,

“O”RING _TUBE STOP

=S oy W

COLLET

—_—
TUBO GUIA

e Body.- The body has an internally machined form to
secure the collet(s), ‘0’-Ring(s) and Tube support(s). It
also has internal & externally machined thread form(s)
for connection to ports where applicable.

e Collet.- The purpose of the collet is to grip the tube and
ensure it is retained by the fitting at all times.

¢ “0”Ring.- The ‘0’-Ringistoensure adequate interference
between the tube & fitting body therefore providing a
pneumatic seal at all times.

e Tube support.- The tube support prevents the tube
collapsing during extreme tensile loading conditions. Such
conditions are only encountered during performance testing
and far exceed those experienced during normal use.

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com

PUSH-IN BRASS FITTINGS || RACORERIA INSTANTANEA EN LATON - NORGREN

29




PUSH-IN BRASS FITTINGS || RACORERIA INSTANTANEA EN LATON - NORGREN
Estuches de Racoreria // Fitting assorted box

APTA PARA CIRCUITOS DE FRENOS
Suitable for brake system

KIT ESPECIAL MB M0130

[l m
x1
4 mm Fis X1
100200400 12 mm
i 97450307
{
i x1 : x1
8 mm 15 mm
|. 97450305 97450315 |
. x1 .

Cortatubos :
x1 TC-XH x1
6 mm 10 mm
97450304 97450306
KIT ESPECIAL MAN M0140
6 mm
97450304 x1 x1
4 mm 15 mm 14 mm
100200400 97450315 | 97450392
x1
16 mm
97450308 x1
Cortatubos
x1 x1
10 mm TC-XH x1 x1
97450306 9 mm 11 mm
8mm 97450313 | 97450336
97450305

KIT UNIVERSAL M0150

[ |

x1 x1
4 mm 10 mm
100200400 97450306
x1 x1
8 mm 12 mm
97450305 X1 97450307
Cortatubos

TC-XH

x1 x1
6 mm 10 mm
97450304 97450306

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




’0’0 0‘0 ’*‘
AOOK

L 2
%%’

Raufoss”
KoNaSEERo couplings

racoreria en
pldstico y laton

plastic and brass fittings

./ /, >



PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
OBJETIVO DE NEGOCIO // OUR BUSINESS

32

Una vida de servicio
a asistencia

Los constructores de vehiculos a nivel mundial demandan
soluciones innovadoras, funcionalidad, confort y seguridad.

Laclientela de Kongsberg Automotive engloba a un amplio
namero de primeros equipos, en los que se encuentran
los mas avanzados tecnolégicamente.

Por ello cuentan con Kongsberg Automotive como el
proveedor ideal para la cooperacién muitua en el desarrollo
de especificaciones individuales, disefios de productos y
estudios técnicos.

Kongsberg Automotive suministra en todo el mundo su valor
afadido centrandose en la facil y rapida instalacion,
reduccion de costes y respeto al medio ambiente.

) Amumm AUTOMOTIVE

EER =r pRed;
IIIIII!I!!E_@

il | g *1“11’"1"'"'1 nﬂuiﬁ: h I ,'l‘ | !
“FF 34013 iE =

] P o
i B -

i
.-é

www.kongsbergautomotive.com

A lifetime of service
and support

The world’s commercial vehicle manufacturers require
innovative solutions that offer functionality, comfort
and safety.

Kongsberg Automotive’s customers include a broad
range of leading manufacturers worldwide.

To meet individual specifications on concept, design and
technical issues, vehicle manufacturers prefer a close
cooperation with Kongsberg Automotive.

By focusing on easy installation, cost-effectiveness, and
environment-friendly solutions, Kongsberg Automotive
provides added value to customers all over the world.

7N

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



ABC
Sistema Raufoss ABC

Una nueva generacion de racores, fabricada con
composite en combinacion con la tecnologia lider
en racoreria.

Este sistema aporta una significante mejora en todas las
facetas en el area del racordaje, y otorga a Raufoss una
mayor presencia en los primeros equipos de sistemas
neumaticos.

Los nuevos materiales de composite proporcionan una
reduccion de coste, peso, nimero de figuras, al mismo
tiempo aumentan el disefio y flexibilidad. Los componentes
de latén aseguran la estructura en las zonas mas criticas.

Un sistema global, con un concepto de ingenieria

completamente novedoso en el vehiculo industrial, sea
camién, autobds, remolque o aplicaciones “off road”.

O Caracteristicas:

Seguridad; Sefal actstica
de pre-conexion
Safety; Assembly end
of line check

Desconexion total del tubo
Full tube releaseability

r

J. %.\.

Seguridad; Sedal acﬁsticg
de conexion completa

Safety; Assembly
feedback signal

Componentes s_iﬂﬁ'o;'c"—as

PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC
Raufoss ABC System

A new generation of couplings, based on composite
materials in combination with leading coupling
technology.

The system will provide significant improvement in
key coupling areas, and enable Raufoss to take a
broader responsibility in pneumatic system building on
commercial vehicles.

New composite materials reduce system cost, weight,
article numbers and increases design flexibility. Brass
components secure structural integrity in highly stressed
areas.

One global system, fulfilling different engineering
philosophies within truck, bus, trailer, off-road applications.

O Features:

Seguridad; Dos pasos para el
montaje de un conjunto

Safety; 2-step assembly
building block

a

Completa desconexion
de un conjunto

Full building block
releaseability

° Componentes sin roscas
Safety; Rotation ﬁop

{

ey

Port assembly without thieads

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 33



PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC ABC

Raufoss Series ABC de conexiéon Raufoss ABC Push-in family
rapida

Nueva I"T?a A.B(.: ABC new line push-in
de conexion rapida

ABC KArtridge Push-in ABC KArtridge Push-in
ABC Threadless Push-in ABC Threadless Push-in

Conector integral ABC

ABC integral push-in

Util de desconexidn Release Tool

1. Conectar el tubo hasta el final del racor, y dejarloen 1. Push the tube to the bottom of the coupling to move
la posicion de trabajo. the grip ring out of locking position.

2. Colocar el util agarrando el tubo. 2. Apply Release Tool on to the tube.

3. Desplazar hacia abajo el util hasta el final del racor 3. Push the Release Tool to stop with the flange at the
sin aplicar fuerza. top of the tube without using extensive force.

4. Presionaral mismo tiempo el atil hacia el racory tirar 4. While pushing the Release Tool towards the coupling;
del tubo hacia fuera. Girar el tubo podria facilitar la pull the tube out.
desconexion.

& 4

1 2 3/4

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC ABC
Conjuntos ABC - Presentacién ~ ABC Building Block - Program
general del programa overview

FH IR
g P/
d A7

Herramienta de desconexion ABC Building Block release
para los conjuntos ABC

o
-

.

S —
—

] Standard circlip plier ~ Standard circlip plier
Alicate en codo 90° Alicate recto 90° elbow straight

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 35




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC // ABC

CONECTORES MACHO, NUEVA LINEA ABC
ABC new line push-in coupling

; e T B L ow Suporideee S ©
i _ 90106 010 6x1 M10x1 25 1 Negro/Black 16 200 32
90106 012 6x1 M12x1,5 24 1 Negro/Black 18 150 35
— 90106 014 6x1 M14x1,5 16 2 Negro/Black 20 150 30
90106 016 6x1 M16x1,5 12 2 Negro/Black 22 150 32
! 90106 022 6x1 M22x1,5 12 2 Negro/Black 28 100 61
90106 004 6x1 M12x1,5K 22 2 Negro/Black 16 150 35
90106 049 6x1 1/8"NPTF 25 1 Negro/Black 16 150 28
version' 90106050  6x1  1/4" NPTF 1 Negro/Black
90108 010 8x1 M10x1 27 1 Negro/Black 18 150 38
90108 012 8x1 M12x1,5 26 1 Negro/Black 18 150 38
90108 014 8x1 M14x1,5 25 1 Negro/Black 20 150 44
90108 016 8x1 M16x1,5 17 1 Negro/Black 22 150 35
90108 022 8x1 M22x1,5 13 2 Negro/Black 28 100 58
90108 050 8x1 1/4" NPTF 1 Negro/Black
90108 051 8x1 3/8" NPTF 2 Negro/Black
90110 010 10x1 M10x1 1 Gris claro/Light grey 100
30110 012 10x1 M12x1,5 28 1 Gris claro/Light grey 22 100 46
50110 014 10x1 M14x1,5 28 1 Gris claro/Light grey 22 100 53
90110 016 10x1 M16x1,5 28 1 Gris claro/Light grey 22 90 54
90110 022 10x1 M22x1,5 17 2 Gris claro/Light grey 28 80 67
90110 110 10x1,25 M10x1 1 Negro/Black 100
90110 112 10x1,25 M12x1,5 28 1 Negro/Black 20 100 46
T 90110 116 10x1,25  M14x1,5 28 1 Negro/Black 30 54
: 30110 N4 10x1,25 M16x1,5 28 1 Negro/Black 22 90 54
4 90110122 10x1,25  M22x1,5 17 2 Negro/Black 28 80 67
! 90110 210 10x1,5 M10x1 1 Gris oscuro/ Dark grey 100
90110 212 10x1,5 M12x1,5 28 1 Gris oscuro/ Dark grey 20 100 46
90110 214 10x1,5 M14x1,5 1 Gris oscuro/ Dark grey 30 53
version2 90110216  10x1,5  Mi6x15 28 1 Gris oscuro/ Dark grey 22 90 54
90110 222 10x1,5 M22x1,5 17 2 Gris oscuro/ Dark grey 28 80 67
90110 250 10x1,5  1/4" NPTF 2 Gris oscuro/ Dark grey
90112 012 12x1,5 M10x1 89 1 Negro/Black 22 80 53
90112 012 12x1,5 M12x1,5 31 1 Negro/Black 22 80 53
90112 014 12x1,5 M14x1,5 1 Negro/Black 0
90112 016 12x1,5 M16x1,5 30 1 Negro/Black 22 75 55
90112 022 12x1,5 M22x1,5 19 2 Negro/Black 28 75 57
90115 016 15x1,5 M16x1,5 33 1 Negro/Black 28 50 97
90115 022 15x1,5 M22x1,5 31 1 Negro/Black 28 50 99
90115026 15x1,5 M26x1,5 2 Negro/Black 0
90115 072 15x1,5 R1/2" 2 Negro/Black #N/A
90116 014 16x2 M14x1,5 1 Negro/Black #N/A
90116 016 16x2 M16x1,5 33 1 Negro/Black 28 50 83
90116 022 16x2 M22x1,5 31 1 Negro/Black 28 50 86
90116 026 16x2 M26x1,5 2 Negro/Black 0

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

36 www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC // ABC

CONECTORES MACHO, GAMA CLASICA BRK
BRK push-in coupling

Referencia - D

Code = A

T 623 7190 4x1 M10x1 % 275 19
4.9‘ 6237192 4x1 M12x1,5 18 275 2
623 7262 9x1,5 M12x1,5 20 130 45

623 7356 1,5 M16x1,5 22 100 59

! 623 7448 15%2 M16x1,5 26 50 98
L& 623 7449 152 M22x1,5 28 50 102
\ 6237476 18x2 M16x1,5 28 50 98

p 6237477 18x2 M22x1,5 28 50 99
6237478 18x2 M26x1,5 32 40 131

CONECTORES MACHO, GAMA CLASICA ABC
ABC new line push-in coupling

Referencia T D o e
T Code
] 90163 510 1/4" M10x1 16 29
‘ 90163 512 1/4" M12x1,5 18 33
90163 514 1/4" M14x1,5 20 N/A
~ 90163 516 1/4" M16x1,5 22 30
90163 549 1/4" 1/8NPTF 16 36
1 90163 550 1/4" 1/4"NPTF 16 36
90163 551 1/4" 3/8"NPTF 20 32
90195 310 3/8" M10x1 20
90195 312 3/8" M12x1,5 20
90195 314 3/8" M14x1,5 22
90195 316 3/8" M16x1,5 22 35
90195 350 3/8" 1/4" NPTF 20 42
90195 351 3/8" 3/8" NPTF 20 36
90195 352 3/8" 1/2"" NPTF 22 58
90112 712 1/2" M12x1,5
90112714 1/2" M14x1,5
90112716 1/2" M16x1,5 24 56
90112750 1/2" 1/4" NPTF 24 49
90112 751 1/2" 3/8" NPTF 24 73
90112 752 1/2" 1/2" NPTF 24 56
90115916 5/8" M16x1,5 28 86
90115 922 5/8" M22x1,5 28 84
90115 951 5/8" 3/8" NPTF 28 84
90115 952 5/8" 1/2" NPTF 28 85
90119 122 3/4" M22x1,5 32 96
90119152 3/4" 1/2" NPTF 32 95

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 37




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC // ABC

CONECTOR MACHO PASAMUROS BRK
BRK push-in coupling, for bulkhead

Referencia
Code

6237208 6x1  M18x1,5 M12x1,5 22 22 100 57
623 7246 8x1  M16x1,5 M10x1 20 20 10 48

T D D2 L = ™ 4

242,

wrrrey,
P

7

CONECTOR MACHO PASAMUROS COMO 24°BRK
BRK with 24° cone for bulkhead

Referencia e
: by

o Code T D1 K L > T 4
623 7202 6x1  M12x1,5 K24°-6 20 18 175 37

623 7224 8x1  M14x1,5 K24°-8 20 18 130 47
623 7385 12x1,5 M18x1,5 K24°-12 34 22 40 106

CONECTOR DOBLE
Tube connector
Referencia 4
AT
Code T 5= L
623 7195 4x1 200 25
6237205 6x1 200 40
6237225 8x1 125 53
i
= 623 7265 9x1,5 80 80
=
4 . 6237305 10x1 80 81
/7;“!
y‘é‘“”ii 6237315  10x1,25 80 80
N
%él' 6237325 10x1,5 80 81
i
. . 6237355 115 60 75
e
= 623 7365 12x1,5 60 95
T 623 7445 15x1,5 40 131
623 7465 16x2 40 136
623 7475 18x2 40 151
623 7115 1/4" 180 40
623 7135 3/8" 100 68
623 7155 1/2" 60 100
623 7175 5/8" 40 140

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

38 www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC /] ABC
TAPON
Refcezzgua T = A
96210 004 4x1,0 1000 1
96210 006 6x1,0 1000 1
96210 008 8X1,0 700 1
96210 010 10x1 /10x1,25 / 10x1,5 250 2
96210 012 12x1,5 250 2
96210 015 15x1,5 150 3
96210 016 16x2,0 150 4

NIPPLE ABC
New line push-in with hose nipple

Referencia
i Code T H D 11 L2 > & e

910 080™M 81 @1 M22x1,5 20 30 26 50 80

PIVOTES ABC

Pivotes giratorios Tubo Medida Tapon
Swivel building block size Tube Size Plug
Small 6x1/ 8x1 14,8 Blanco / White
Regular 6x1-12x1,5 17,3 Verde / Green
Heavy Duty 12x1,5 / 15x1,5 / 16x2 20,3 Azul / Blue
2\:{ 2 l“i
8 & TR
= R
| - = ;
= —
) — F
A \ A A
Small Regular Heavy Duty

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 39




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC // ABC

PIVOTES GIRATORIOS ABC

40

ABC swivel

PROLONGADOR ABC
ABC extended swivel

o

Referencia
Code

93140010
93140 012
93140014
93140 016
93140 049
93140 050
93140 051
93140 069
93150 010
93150 012
93150 014
93150 016
93150 022
93150 049
93150 050
93150 051
93150 052
93150 060
93150 073
93160 016
93160 022
93160 026
93160 051
93160 052

Referencia
Code

93141016
93151014
93159 014

PIVOTE PASAMUROS GIRATORIO ABC

ABC swivel bulkhead

Referencia
Code

933 51218
933 51617
933 51622

933 62 228

S

Small
Small
Small
Small
Small
Small
Small
Small
Regular
Regular
Regular
Regular
Regular
Regular
Regular
Regular
Regular
Regular
Regular
Heavy Duty
Heavy Duty
Heavy Duty
Heavy Duty
Heavy Duty

M10x1
M12x1,5
M14x1,5
M16x1,5

1/8"-27 NPTF
1/4"-18 NPTF
3/8"-18 NPTF

R1/8"

M10x1
M12x1,5
M14x1,5
M16x1,5
M22x1,5

1/8"-27 NPTF
1/4"-18 NPTF
3/8"-18 NPTF
1/2"-14 NPTF

G1/4"

R 3/4"
M16x1,5
M22x1,5
M26x1,5

3/8"-18 NPTF
1/2"-14 NPTF

S D L
Small  M16X1,5 37
Regular M14x1,5 42
Regular M14x1,5 55

S

Regular
Regular
Regular

Heavy
Duty

M18x1,5
M22x1,5
M22x1,5

M28x1,5

D1 D2

M12x1,5
M16x1,5
M16x1,5

M22x1,5

Tapon
Plug
Blanco/ White
Blanco/ White
Blanco/ White
Blanco/ White
Blanco/ White
Blanco/White
Blanco/ White
Blanco/ White
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Azul/Blue
Azul/Blue
Azul/Blue
Azul/Blue
Azul/Blue

Tapon
Plug

Blanco/ White

Verde/Green
Verde/Green

Tapon
Plug
14 Verde/Green
14 Verde/Green
23 Verde/Green

Rotolock

964 42 016
964 42 018

964 40 022
964 42 016
964 42 016
964 42 018
964 42 016
964 52 018
964 52 018
964 50 020
964 50 022
964 52 028
964 52 018
964 52 018
964 52 018
964 50 022
964 50 022
964 52 028
964 60 022
964 60 028

964 60 022
964 60 022

22
20
20

24 \erde/Green

~ v 4
16 175 28
18 175 30
20 150 35
22 125 41
16 200 28
16 150

18 125

16 175

18 125 34
18 125 35
20 100 4
22 100 45
28 70 59
18 120 37
18 100 42
18 70 45
22 65 58
22

28

22 75 52
28 50 63
22

22

964 50 022
964 52 028
964 52 028

Rotolock . >

22 50
28 50
28 40

36 30

a2

58
66
81

119

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC // ABC
PIVOTE PASAMUROS GIRATORIO ABC
ABC swivel bulkhead
Referencia Tapoén =
Code S D L K Plug Rotolock =~ “*» 1
93352416 Regular ~ M16x1,5 35 24°-10 Verde/Green 96450022 22 50 79
i 933 52 418 Regular  M18x1,5 42 24°-12 Verde/Green 24 50 99
— 93362418 HeavyDuty M18x1,5 42 24°12  Azul/Blue 24 30 1M

PIVOTE PASAMUROS GIRATORIO ABC

ABC swivel bulkhead
Referencia Tapon
] L
02 Code S D1 D2 L Plug >~ T 4f
93352 216 Regular M16x1,5 M22x1,5 18  Verde/Green 28 25 115
933 52 222 Regular M22x1,5 M22x1,5 18 Verde/Green 28 40 110

DOBLE PIVOTE PASAMUROS GIRATORIO ABC
ABC double swivel bulkhead

Referencia Tapén
Code S D1 D2 Plug Rotolock = & a2

933 52 205 Regular M22x1,5 20 Verde/Green 96452028 28 30 124
93362206 HeavyDuty M22x1,5 20 Azul/Blue 96460028 28 30 141

ROTOLOCK
Rotolock
oo Refeewia g e Colr T

IH -’U““‘- .l II', 964 42 016 Small 16 Gris oscuro/Dark grey 500 2
-USKII_ )T-F 96442018 Small 18 Gris claro/Light grey 500 2
HHE LIUIL 1 964 42 022 Small 22 Gris claro/Light grey 500 2
) ) 96452018  Regular 18 Gris claro/Light grey 400 3
964 50 020 Regular 20 Gris oscuro/Dark grey 400 3
964 50 022 Regular 22 Gris claro/Light grey 400 3
964 52 028 Regular 28 Gris oscuro/Dark grey 300 3
96460022  Heavy Duty 22 Gris claro/Light grey 248 5
96462028  HeavyDuty 28 Gris oscuro/Dark grey 248 4

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC // ABC

CONECTOR MACHO SIN ROSCA ABC
ABC threadless push-in coupling

Referencia
Code

902 04 004
902 06 004
902 08 004
902 04 005
902 06 005
902 08 005
90210 005
90210105
90210 205
90212 005
90212 006
902 15 006
90216 006
902 63 505
902 95 305
90212 705
90215 306

4ax1
6x1
8x1
4x1
6x1
8x1
10x1
10x1,25
10x1,5
12x1,5
12x1,5
15x1,5
16x2
1/4"
3/8"
1/2"
5/8"

S

small (latén)
small
small
regular (laton)
regular
regular
regular
regular
regular
regular
heavy duty
heavy duty
heavy duty
regular
regular
regular

heavy duty

Guia interna
Support sleeve

Negro/Black
Negro/Black

Negro/Black
Negro/Black
Gris claro/Light grey
Negro/Black
Gris claro/Light grey
Negro/Black
Negro/Black
Negro/Black
Negro/Black

Tapon
Plug
Blanco/ White

Blanco/ White
Blanco/ White
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Verde/Green
Azul/Blue
Azul/Blue
Azul/Blue
Verde/Green
Verde/Green
Verde/Green
Azul/Blue

150
500
500
100
450
375
275
275
275
200
200
125
120

60
40

CODO INTEGRAL 90° ABC
ABC integral push-in
Refenda v | s |12 e o, o
] 903 06 004 6x1 small 32 18 Negro/Black 150 1
- 903 08 004 8x1 small 34 18 Negro/Black 150 13
903 06 004 6x1 regular 31 21 Negro/Black 150 13
! o 903 08 005 8x1 regular 33 21 Negro/Black 150 15
' 903 10 005 10x1 regular 35 24 CGris claro/Light grey 125 18
903 10 105 10x1,25 regular 35 24 Negro/Black 125 18
903 10 205 10x1,5 regular 35 24 Gris oscuro/Dark grey 125 18
903 12 205 12x1,5 regular 37 24 Negro/Black 120 20
903 15 006 15x1,5 heawyduty 46 31 Negro/Black 60 36
90316 006 16x2  heawyduty 46 31 Negro/Black 70 35
903 63 504 1/4" small 10
903 95 305 3/8" regular 50 16
90312 705 1/2" regular 40 21
903 15 906 5/8"  heavyduty 20 35

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
ABC /] ABC

DOBLE CONECTOR HEMBRA ABC
ABC union female

Referencia
Code 5(2x)

96140 004 Small 38.7 70 8
96150 205 Regular 45.2 80 13

Referencia S (2x) i

Code
920 40 045 Small 22 150 9
920 50 045 Regular 25 120 14
920 60 045 Heavy Duty 30 75 20

CODO0 90°
90° elbow

CODO0 45°
45° elbow

Referencia
Ah
= é_i, 920 50 030 Regular 29 100 15
B “ Ly 92060090  Heavy Duty 34 60 25

UNION F
Union F

Referencia  s@y) L1 A
920 40 015 Small 266 224 23 100 15
920 50 015 Regular 31 26.1 27 50 25
92060015 HeavyDuty 363  30.6 32 35 29
UNION TGL

Refce(r)zrema S (3x) iy
920 40 010 Small 53 22 90 14
920 50 010 Regular 62 26 70 22
92060010 Heavy Duty 73 31 40 34

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
ABC /] ABC

UNIONEN Y
Union Y

Referencia
A
Code 5 (3x) i
92040030 Small 46.9 100 13
- 92050 030 Regular 54.8 70 21

DISTRIBUIDOR 3 ViAS
3 - way block

Referencia

Code 5 (3x)
92040 060 Small 24 75 16
920 52 060 Regular 28 50 25
920 60 060 Heavy Duty 33 35 38
CRUZ 4 ViAS
4 - way cross
Referencia s
. S (4x) L ™
920 50 070 Regular 29 75 25
920 60 070 Heavy Duty 34 50 40

DISTRIBUIDOR 4 ViAS

4 - way block
Referencia
AL
Code S (4x) L1 L2 ) [
920 50 061 Regular 50 28 50 28
920 60 061 Heavy Duty 59 33 30 44

CONECTOR HEMBRA CON SOPORTE
T&L union femele with straight bracket clip

Referencia
g

Code S (2x) L1 L2 < Af?

[ 96140 024 small 39 27 21
- 96150225  regular 45 29 25

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC // ABC
UNION TGL CON SOPORTE
Union T&L w/bracket clip 90°
Referencia 5
s S (3x) L1 L2 o 4
920 50 025 Regular 27 26 50 34

PIVOTE GIRATORIO CON CONO 24° ABC
ABC swivel with 24° cone connection

Referencia ¢ D K  Rotolock - = 42

% Code
93152412 Regular M12x1,5 24° 96452018 18 100 38

g

CONECTOR HEMBRA GIRATORIO ABC
ABC swivel with internal threads

Referencia Tapon =
) Code S D plug  Rotolodk = o ol

i

93150110 Regular M10x1 Verde/Green 96452018 18 125 29
93150112 Regular M12x1,5 Verde/Green 96452018 18 150 29
9315014 Regular M14x1,5 Verde/Green 96452018 18 100 31

- 93150116 Regular M16x1,5 Verde/Green 964 50022 22 80 50
93150122 Regular M22x1,5 Verde/Green 964 52028 28 40 72
93150149 Regular 1/8'NPTF Verde/Green 96452018 18 100 33
93150150 Regular 1/4'NPTF Verde/Green 96452018 18 150 34

RACOR DE PRUEBA ABC
ABC threadess test point ISO 3583

Referencia Tapén e
% AT

Code s Plug =
960 50 000 Regular Verde/Green 200 12

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC // ABC

REDUCTOR ABC
ABC reducer

CONVERTIDOR ABC

ABC union male

TAPON GIRATORIO ABC
ABC threadless swivel plug

TAPON DE APARCAMIENTO
Transportation plug

Code
96150 106

Referencia
Code

96540 004
965 40 005
965 50 005
965 50 006
965 60 006

Code
962 40 000

962 50 000
962 60 000

Referencia

Referencia

S1

Heavy Duty

S1

Small
Small
Regular
Regular
Heavy Duty

S

Small

Regular
Heavy Duty

S2

Regular 15.1

%

175

S2 Rotolock "
Small 18 120
Regular 18 240
Regular 18 200
Heavy Duty 18 150
Heavy Duty 22 140

Tapon
Plug

Blanco/ White
Verde/Green

Azul/Blue

170
150
100

AR

1l

10
13

23
33
48

[’ —

46

I
= .

1 =

Referencia
Code

967 06 000
967 06 010
967 08 000
96712 000
96715000
96716 000

T

6x1
6x1
8x1
12x1,5
15x1,5
16x2

Color
Color

Rojo/Red
Amarillo/ Yellow
Rojo/Red
Rojo/Red
Rojo/Red
Rojo/Red

1000
1000
1000
500
250
250

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
ABC /] ABC

UTIL DE DESCONEXION STANDARD
Release tool standard

Referencia 4

Code T T T T(SAE) » 4

| I 966 06 010 6x1,0 1/4" 150 4

| ||| 966 08 010 8x1,0 125 5

: s [ 96610 010 10x1,0  10x1,25 10x1,5 3/8" 100 5
' JEN | 96612 710 12x1,5 1/2" 100 5

MM

96615 010 15x1,5 75 7

T 966 16 010 16x2,0 5/8" 75 6

UTIL DE DESCONEXION PROFESSIONAL
Release tool professional

Referencia T T T(SAE) o it
966 06 020 6x1 1/4" 36 58
966 08 020 8x1 36 57
96610 020 10x1 10x1,25  10x1,5 3/8" 36 57
96612 720 12x1,5 1/2" 36 56
966 15 020 15x1,5 16 14
966 16 020 16x2 5/8" 16 112

CARTUCHO ABC
ABC KArtridge* press-in coupling
T S
' 6x1 Small
1 8x1 Small
8x1 Regular

12x1,5 Regular
15x1,5  Heavy Duty

16x2  Heavy Duty

ADAPTADOR ABC
ABC KArtridge* adapter

T S

Regular Regular

* Para disponibilidad de los cartuchos, por favor péngase en contacto con Kongsberg Automotive Raufoss
* Contact us for details amd more information about Kartridge at Konsberg Automotive Raufoss.

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 47




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
ABC /] ABC

CARTUCHO GIRATORIO ABC
ABC KArtridge* swivel

S1 S2

Small Small

Heavy Duty Heavy Duty

48

TAPON/CARTUCHO ABC
ABC KArtridge* port plug
S
i
- Small

* Para disponibilidad de los cartuchos, por favor péngase en contacto con Kongsberg Automotive Raufoss
* Contact us for details amd more information about Kartridge at Konsberg Automotive Raufoss.

H#Material: Acero / Material: Steel
Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ANEXO ABC // ABC ANNEX

EMPALME RECTO CON SOPORTE
Union, 2xthread with bracket.

Referencia D e
Code

6237847  M12x15 60 92

6126933  M16x1,5 60 76

Instrucciones de montaje
|{ ([T{’N Assembly sketch

CODO CON SOPORTE
Union, 2xthread with bracket.
Referencia it
Code D % e
) ( 6126934  M16x15 40 95

jﬁ]

TE CON SOPORTE
Union T, 3xthread with bracket

_ Assembly sketch

|
|
|
|
|
|
‘ Instrucciones de montaje
|
|
|
|
|
|
|

@ NP

Referencia 1
Code ol
6237863 M16x1,5 40 80

TE 90° CON SOPORTE
Union T, 3xthread with bracket.

Referencia i
/\ Code D % L
A | 6126935  M16x15 30 12

Assembly sketch

%
b |

|

|

|

|

|

|

| . .
| Instrucciones de montaje
|

|

|

|

|

|

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ANEXO ABC // ABC ANNEX
PASAMUROS H/M
Bulkhead coupling
0 ; Referencia D2 L~ &
l]I] 3 6237722  M16x15 M10x1,0 200 22 150 35
| i 6161182  M16x15 M10x10 28 22 100 47
- | 6237723 M16x15 M10x1,0 35 22 75 48
. | 6237726 M22x15 M16x1,5 24 28 80 57
D1 l 6237727 M26x15 M16x15 24 32 50 100
|

PASAMUROS H-H/M
Adapter for pressur gauge

Referencia s -
e D1 D2 D3 L = 4

6237625 M18x1,5 M12x1,5 G1/4"-1S083711 20 22 120 35

PASAMUROS M/M
Bulkhead coupling
s e e
| : 6237622 M12x15 M12x1,5 24 18 200 29
J 3 6237624 M12x15 M14x15 24 20 200 35
. : 6237693 M16x15 M16x1,5 24 22 110 42
: 6237697 M16x15 M16x1,5 35 22 75 75
01 : 623 9116 M16x15 R1/4"* # 24 22 75 45
| 623 7735 M22x15 M16x1,5 24 28 50 76

PASAMUROS M-M/H

Bulkhead coupling

Referencia 0
G D1 D2 D3 L > 4l

6237728 M22x15 M16x15 3/8-18NPTF 24 28 60 83
6237729 M22x15 M16x15 1/2-14NPTF 24 28 50 88
623 7731 M22x15 M16x15 M16x1,5 24 28 50 70
6237733 M22x15 M16x15 M16x1,5 40 28 50 94
6237730 M22x15 M16x15 M22x15 24 28 50 70
623 7721 M22x15 M16x15 M22x15 40 28 40 94
623 9735 M22x15 M16x15 M22x15 30# 27 50 99
623 9115 M22x15 M16x1,5 R1/2"* 24# 27 50 79

H#Material: Acero / Material: Steel
Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

50 www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ANEXO ABC // ABC ANNEX

PASAMUROS CON TUERCA Y JUNTA TORICA

Bulkhead coupling, pre-assembled with o-ring and nut

L Referencs m 02 e
J‘ﬁ | . \ 6237834  M16x15 M16x15 70 63
7 % | -y 6237835 M22x15 M16x15 50 122
% 0 y 6237836  M22x1,5 M22x15 33 18
|
|

PASAMUROS M-M/H

Bulkhead coupling, with 24° cone

Referencia
‘ x S ATD
3 X Cods D1 D2 D3 A B C L4
% - 6237999 M22x1,5 M16x1,5 M16 x 1,5 6237733 6237749 6237747 48 28 40 127
nER
|
2 |
v I

PASAMUROS M-R/H
Bulkhead coupling, for fixing air reservoir

e Referencia * .
- ™ o D1 D1 R L =, T 4
' 6239736 M22x15 M16x15 @22 60 27 30 170

Es necesario la autorizacién del fabricante del calderin.
The producer of the air reservoir must approve fixing it with the ports.

PASAMUROS CON CONO H-M
Bulkhead coupling, with 24° cone

Referencia -
S AL

Code D1 K D2 L ™ Al
623 7694 M22x15 K24°-15 M16x1,5 24 28 80 60

#Material: Acero / Material: Steel

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 51




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ANEXO ABC // ABC ANNEX

PASAMUROS CON CONO H-M/K
Bulkhead coupling, with 24° cone

¥ | Referencia K D2 L >~ © 4
7% : ‘ 623 9113 M12x15 K24°-6 M12x1,5 34 20 100 45

: 623 7695 M16x15 K24°-10 M16x15 34 24 50 76

- : 623 9108 M16x15 K24°-10 M16x15 # 34 22 50 61
- | | 6237732  M18x15 K24°-12 MI6x15 34 24 50 60

Lﬁ ‘ 623 91M M18x15 K24°-12 M16x15 # 34 22 60 66

PASAMUROS M/H - M/K
Bulkhead coupling, with 24° cone

Referencia

- N D1 K D2 D3 L = & 42
| ]::Ll Code
623 7696 M16x1,5 K24°-10 M16x15 M22x1,5 34 24 50 70

CODO 90° PASAMUROS

90° elbow, for bulkhead
Referencia
1 Code D1 D2 L ~ ™
o 6238883 M22x15 M22x15 TBD 28 294
CODO 45° PASAMUROS H-H/H
45° elbow, for bulkhead
. ‘ Referencia Jar
. | ] D1 D2 D3 L © 4
V='n : 623 7881 M22x15 M16x15 M16x15 Min21 40 86
i : 623 8873 M 16 x 1,5 M16 x 1,5 Min22 50 88
|
|
|

CODO 45° PASAMUROS CON TUERCA Y JUNTA TORICA
45° elbow, for bulkhead pre-assembled with o-ring and nut

Referencia

LS
o D1 D2 L & 3.
623 7831 M16x15 M16x1,5 22 40 100

H#Material: Acero / Material: Steel

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

52 www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
ANEXO ABC // ABC ANNEX

CODO 90° PASAMUROS M/K - M/H
90° elbow, with 24° cone for bulkhead

Referencia ot
Code D1 D2 D3 K L O 42

z{{é%
e 623 7866 M22x15 M16x15 M18x15 K24°-12 17 50 77

Bajo pedido./ No standard article; please ask for availability.

S

CODO 90° PASAMUROS H-M/K
90° elbow, with 24° cone for bulkhead

Referencia

| AL
f=| l Code D1 D2 K L % yE
623 7872 M18x15 M16x15 K24°-12 34 30 125

CODO 90° PASAMUROS H-M/H

90° elbow, for bulkhead
. Referencia
Rz [ iy S
b f Code D1 D2 D3 L & 4abf
l /’ [ | 623 7809 M22x15 M16x15 M16x1,5 20 50 75
/ L | I
gé [ 623 7880 M22x15 M16x15 M22x1,5 22 25 190
o |
? |
o2 |
D1 |
CODO 90° PASAMUROS M-H
90° elbow, for bulkhead
Referencia
AR
| r o D1 D2 L & 4
: ' 623 7807 M12x15 M12x1,5 18 80 45
: 623 7813* M14x15 M14x1,5 22 100 48
| ——,
[ — 623 7808 M16x15 M16x1,5 22 50 62
| —
! —=
| =

*Bajo pedido./ No standard article; please ask for availability.

CODO 90° PASAMUROS CON TUERCA Y JUNTA TORICA

90° elbow, for bulkhead pre-assembled with o-ring and nut

? Re':g;;'e“'a D1 D2 A B >~ o 4o
\ | 6237928 M12x15 M12x1,5 18 80 45
: 6237930 M16x15 M16x1,5 22 50 77
: 623 7890 M22x15 M16x1,5 28 40 90
: 623 7891 M22x15 M22x1,5 28 137
‘ ﬂ 623 9970 M26x15 M22x1,5 32 90 258

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 53




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ANEXO ABC // ABC ANNEX

PASAMUROS ORIENTABLE EN FORMA DE “L”
L - coupling, for bulkhead

Referencia  py D2 D3 =T
S 6237980 M16x1,5 M16x1,5 20 40 77
6237982 M22x15 M16x15 MI6x1,5 20 40 90

PASAMUROS ORIENTABLE EN FORMA DE “T”

T - coupling, for bulkhead

S

i i e . Referencia D1 D2 L & i
"zZy v | 623 7892 22 100

PASAMUROS ORIENTABLE EN FORMA DE “X” CON 3 VIAS

3 - way coupling, for bulkhead

| Referencia D1 D2 L & 4

6237829 M16x15 M16x15 21 40 100

PASAMUROS ORIENTABLE EN FORMA DE “Y”
Y bulkhead

\ . A ' N\ Referencia D1 D2 = iy
& S = N , 6237981 M22x15 M16x1,5 40 100

[
[
[
X N
- T— - | -
Y Ll ‘ =
] [ —
ADAPTADOR M/M
Transfer adapter
R | Referencia D1 D2 ~ ™ 4
[
[ 6237714 * M16x15 3/8"-18 NPTF 22 150 4
— [
[ 623 7900 M16x1,5 M 22 x1,5 24 125 50
-1 [
: *Bajo pedido./ No standard article; please ask for availability.

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

54 www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ANEXO ABC // ABC ANNEX
ADAPTADOR
Transfer adapter
Referencia D1 D2  Form = T

6237626 1/4" -18 NPTF* M12x1,5 2 18 200 31
623 7628 1/4" -18 NPTF* M16 x 1,5 2 22 125 48
6237633 3/8"-18 NPTF* M16x1,5 2 22 130 46
623 7655 M 16 x1,5 1/8 - 27 NPTF 1 22 200 25
623 7656 M16x1,5 1/4" - 18 NPTF 1 22 150 33
623 7657 M 16 x1,5 3/8" - 18 NPTF 1 22 100 40
623 7904 M16x1,5 3/8"-32 UNEF 1 22 250 25
6237614 M 16 x1,5 M12x1,5 1 22 150 20
623 7615 M 22 x1,5 M12x1,5 1 28 150 45
623 7616 M 22 x 1,5 M16x1,5 1 28 150 34
6237618 M 26x1,5 M16x1,5 1 32 100 73
623 9131 R1/4"* M10x1,0 2 H# 17 200 23
623 9130 R3/8"* M12x1,5 2 H# 19 200 32
623 9132 R1/2"* M16 x 1,5 2 H# 27 80 75

*Sin junta térica./ Without o-ring sealing against port.

ADAPTADOR CONO M/H
Transfer adapter, with 24° cone (Adapter: Steel tube to Raufoss couplings™)
Referencia ey
o D1 D2 K = 1 4

623 9102 M12x15 M12x15 K24°-6 # 19 120 32
623 9104 M16x15 M16x15 K24°-10 # 22 100 38

CONTRATUERCA CON JUNTA TORICA

Locking nut, with o-ring

Referencia .
S AL
D 1 Code D % X
| | 6237745  M12x1,5 18 200 9
|
| ' 6237742 M14x15 20 200 il
| 6237746 M16x15 22 200 12
| ‘ 6237778 M18x1,5 24 100 15
6237747 M22x15 28 100 17
ADAPTADORH/M
Transfer adapter
Referencia H M
109 000 1282 22 16

#Material: Acero / Material: Steel

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ANEXO ABC // ABC ANNEX
CONTRATUERCA
Locking nut
0 Refg;;:ua D o, 4t
| 623 9134 M12x1,5 H# 17 200
623 9135 M 14 x1,5 H# 19 200 8
6237748 M16x1,5 22 500 12
623 9136 M16 x 1,5 H 22 200 1
623 7775 M18 x 1,5 24 300 14
*************** 623 9137 M18 x 1,5 H# 24 200 12
- g 6237749 M 22 x1,5 28 300 16
623 9138 M 22 x1,5 H# 27 200 23
o 623 9749 M 26 x1,5 H# 36 100 30
6237798 M28 x 1,5 36 100 36

ADAPTADOR CONO CON JUNTA TORICA
Transfer adapter, with o-ring and 24° cone

0 | Referencia D2 K =~ ™ 4
’1’? : 6237781 M10x10 M12x15 K24°-6 16 400 18
_ | 6237782  M16x15 M12x15 K24°-6 22 200 32
1 6237783  M12x15 M16x15 K24°-10 18 200 24
T 3 6237784 M16x15 M16x15 K24°-10 22 150 35
| 6239109 M16x15 M16x15 K24°-10 # 22 100 31
/2 1 6237785 M16x15 M18x15 K24°-12 22 150 32
QEB‘ 1 6239110  M16x15 M18x1,5 K24°-12 # 22 100 30
| 6237786 M22x15 M16x15 K24°-10 28 100 51
6126278 M22x15 M22x15 K24°-15 28 75 69
EMPALME RECTO
Socket joint
A = &
— 1 6237741  M12x15 18 250 24
| 1 6237743  M16x15 2 75 3
Y | 3 6237744  M22x15 28 100 48
|

ADAPTADOR REDUCTOR CON REDUCTOR DE CAUDAL
Transfer adapter, with air flow reducer

Referencia -
) D1 D2 F L > O™ 4

623 7692 M16x15 M16x15 10 22 100 57 57

D1
H#Material: Acero / Material: Steel

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

56 www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ANEXO ABC // ABC ANNEX
TAPGN MACHO
Plug
Referencia
| Code
} 6237604  M10x15 16 350 12
| 6237605  M12x15 18 350 19
’ll) | 6237606  M14x1,5 20 250 25
| 6237607  M16x15 22 220 29
! 6237608 M 22x1,5 28 120 53

TAPON PARA CALDERIN
Plug, for fixing air reservoir

| Referencia D 11 L2 o o
3 ‘ 623 9738 M 22 x1,5 18 60 27 30 248
[
[
. | Es necesario la autorizacién del fabricante del calderin.
20 [ The producer of the air reservoir must approve fixing it with the ports.

RACOR DE PRUEBA IS0 3583
Test point, ISO 3583

‘ Referencia A
| Code
1 | 623 7776 M 16 x 1,5 22 75 42
i %1, - 6237777  M22x15 28 60 68
g | _
@= I \g
D =
_— l

Referencia
Code A

623 9144 M18x15 M12x15 18 22 50 60

RACOR DE PRUEBA PASAMUROS ISO 3583
Test point, for bulkhead I1SO 3583
T\

/7
{

N

\
\
\
|
CLTI7 :
|
|
|
|

RACOR DE PRUEBA PASAMUROS CON CONEXION INSTANTANEA IS0 3583
Test point, with integrated push-in for bulkhead 1SO 3583

Referencia s
AL

i D T L ™ A
6237207 M18x1,5 6x1 18 22 60 65
6237227 M18x1,5 8x1 18 22 60 57

e

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 57




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ANEXO ABC // ABC ANNEX

VALVULA DE PURGA, DIN 74292

Drain plug, DIN 74292

0 __-é Referencia s &
BERE } 6237787  M22x1,5 28 60 54
Vaash ‘
(f N |
t )i
\?;//J : Con anilla./ With ring.

VALVULA DE PURGA, DIN 74292

Drain plug, DIN 74292

0 Referencia S 5
"af : Code D ™ 4
6237788  M22x1,5 28 75 54

J Sin anilla./ Without ring.

™

NIPPLE CON JUNTA TORICA
standard

Hose nipple, with o-ring Raufoss couplings

Referencia H (0 Manguera) iz
Code H (@ Hose size) . L == % i

L
623 7926 9.5 M16x1,5 30 22 100 45

i} A\ T 6237905 10 M16x15 30 22 100 43
L] [T 6237912 10 M22x15 30 28 75 71
— 623 7906 11 M12x1,5 30 18 150 44
”””””””” 6237907 1 M16x15 30 22 130 38
) 6237915 11 M22x15 30 28 75 53

e 6237908 13 M16x15 30 22 120 37

; 6237914 13 M22x15 30 28 60 6

' 6237911 14.5 M16x15 30 22 10 46

6237913 14.5 M22x15 30 28 75 73

NIPPLE CON JUNTA TORICA DIN STD.

Hose nipple, with o-ring DIN std.

5 e R
- : 6237994 M M16x1,5 40 22 100 44
4 : 623 7997 n M 22 x1,5 40 28 50 69
=1 : 6237995 13 M16x1,5 40 22 90 60
623 7996 13 M22x1,5 40 28 50 70

NIPPLE CON JUNTA TORICA DIN STD.

Hose nipple
) Referencia H (2 Manguera) e
= Code H (@ Hose size) D1 D2 L == % At
= 623 7752 3/8" M22x15 M16x15 28 50 77 77

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

58 www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
ANEXO ABC // ABC ANNEX

NIPPLE CONO CON JUNTA TORICA
Hose nipple, with cone and o-ring

Referencia H (@ Manguera) Tuerca £
Code H (@ Hose size) K Nut . % L

H |
[
el .
f \ 623 8992 * 9 K24°-10 6161146 40 200 23
[
[ 623 8993 1 K 24°-12 6161147 40 100 18
. [
: Nota: a) La tuerca se suministra por separado.
I b) Con cono de 24°
: Remarks: a) Kindly purchase the nut separately.
[
[
[
[

b) Connection to bulkhead or adapter with cone (24°).

* Bajo pedido. / No standared article; please ask for availability.

TUERCA PARA NIPPLE
Nut, for hose nipple

Referencia
\ AR
) | Code Nipple A
|
| 616 1146 M16x15 6238992 19 300 18
|
r T | 616 1147 M18x1,5 6238993 22 200 25
|
|
|
|

NIPPLE P5s. NO ES GIRATORIO, POR LO TANTO SE PUEDE MONTAR ENTRE EL CHASIS Y EL EJE
Hose nipple, with plug-in P5s. Cannot be rotated, therefore permitted between frame and axle

| - Referencia H (@ Manguera) e r
| Code H (@ Hose size) S E % i

: 623 7046 n P 5s 40 100 32
: 6237047 13 P 5s 40 100 44
: Nota: Usar con los adaptadores 623 7044 o 623 7045.

\ Remarks: Kindly use the counterparts 623 7044 or 623 7045.

[

ADAPTADOR PARA NIPPLE P5s
Connector, for hose nipple P5s

e l N Referencia D S ~ T 4
I ~
ﬁ } 6237044  M16x15 P5s 26 80 55
| | 6237045 M22x15  PS5s 28 75 62
|
|
|

TOMA DE PRESION
Pressure testing

Tubo (@ interior)

| Referencia H Tube (in 0)
[ 30 1101 M16x1,5 6
30 1102 M 16 x 1,5 8

o L

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 59




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
ANEXO ABC // ABC ANNEX

ARANDELA CON JUNTA TORICA
Pressure ring, with o-ring

Refg;fl:ua D =
[ 6239139 M10x10 100
6239140  M12x15 100
—————————— 6239141  M14x15 100
6239142  M16x1,5 100
d 6239143  M22x15 100
6239143 M26x15 100
JUNTA TORICA PARA P5
O-ring, for push-in for plug-in P5
Refg;;relua D =
‘ | 3579081  M10x10 500
— | 3579089  M12x15 500
1 o 3579093  M14x1,5 500
1 3579088  M16x1,5 500
1 3579086 M 22x15 500
3579186  M28x15 500

JUNTA TORICA PARA CONTRATUERCA

O-ring 8, for locking nut

| : Refce;?l:cla D =
E‘:%. | 3579119  M12x15 500
| ° 3579094 M14x1,5 500
@ l 3579092 M16x15 500
1 3579219  M18x1,;5 500
3579086 M22x15 500
JUNTA TORICA PARA NIPPLE
‘ Referencia

Bl K Nipple ™

\
\ ° 357 9121 @10 623 8992 500
\
\ 357 9122 @12 623 8993 500
\

60

CAPUCHON
Safety cap, for test point

Referencia %

|
|
|
|
|
|
|

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

INFORMACION RAUFOSS ABC ABC PRODUCT INFORMATION

Propuestas de montajes conel  Raufoss ABC System - Assembly
Sistema ABC proposals

Montaje en “L” con racor de prueba Montaje en codo integral con rotolock

Integral-coupling with rotolock

. q
3

L - coupling with test point

—————

=
1
=

Montaje en “T”

Montaje en “L”
T - coupling

e
3

L - coupling

|
g
"-
2
-

Montaje con un codo integral y pasamuros Montaje en “F”

F - coupling

5D
(L ===

Bulkhead with integral coupling

B8 =

\

=
1

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 61




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
INFORMACION RAUFOSS ABC  ABC PRODUCT INFORMATION

Cruz de 4 vias y reduccion
4 - way cross with reducer

=
H

Montaje en cruz de 4 vias Montaje combinado
4 - way union couplings Combined couplings

Montaje recto
Union coupling

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

62 www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

INFORMACION RAUFOSS ABC ABC PRODUCT INFORMATION

Montaje de un conjunto
con el sistema ABC™

Instrucciones de montaje

No esta permitido mezclar el sistema ABC con otros
sistemas similares de otras marcas.

Assembly of the ABC™
Building Block system

Assembly instructions

Itis not allowed to mix the ABC™ Building Block system
with similar systems produced by other manufacturers.

El pivote giratorio se ha montar al par de apriete
adecuado, (el mismo que el del conector macho). Quitar
el tapén de proteccién antes de realizar la conexién.

The swivel shall be mounted with the recommended torque
(equal as for Push-In). Remove the protection cap after
mounting, directly before assembling the Building Block.

El sistema ABC tiene dos pasos de conexion. Se presiona
las partes con la mano. La conexion giratoria se puede
cambiar de posicion girando.

Al completar el paso 1, (seguridad) de posicionamiento,
hay una controlada fuga de aire, ligeramente audible.
Dependiendo del espacio y la accesibilidad se aprieta
definitivamente y la conexién queda sellada.

AVISO IMPORTANTE

Para los siguientes casos es obligatorio el uso de Rotolock
en el conjunto:

* Entre tractora y remolque.

* Entre el eje y el chasis.

+ Cuando la orientacién del tubo debe ser fija.

The ABC Building Block system is a 2 step connection.
The parts are pressed together by hand. The connection
swivel and Building Block can be turned for positioning.

When reaching the 1st (safety) position only, a controlled
leakage will be discharged, this is slightly audible.
Depending on the dimension and accessibility the connection
can be re-pressed under pressure and is then sealed.

IMPORTANT RECOMMENDATIONS

In these cases:

- Connection between truck and trailer (e.g. brake hose/Air coils)

-Between axle and chassis (e.g. brake hose)

* The tube orientation has to be fixed use the RotoLock in
combination with ABC Building Block

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com




INFORMACION RAUFOSS ABC

Montaje del Rotolock

Instrucciones de montaje

No esta permitido mezclar el sistema ABC con otros
sistemas similares de otras marcas.

Presionar el Rotolock y el racor a la vez.

Conectar el pivote giratorio hasta
la primera posicion (seguridad).

Orientar la posicion.

Conectar el racor hasta alcanzar la
segunda posicion (blogueo).

Instrucciones de montaje

El uso del sistema ABC permite cambiar cualquier componente del
circuito, valvulas, calderines, fuelles de suspension etc.

Antes de empezar la manipulacién de los racores:

* Vaciar completamente de aire el circuito neumatico, y asi poder
desconectar tanto el tubo como el racor.

* Retirar bridas u otros elementos de sujecién para garantizar una
mejor accesibilidad.

» Limpiar la zona de conexién, asegurarse de que ninguna
impureza entra en el tubo o en el racor.

N
uwm uwm oo q '4

PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

ABC PRODUCT INFORMATION

Assembly of Rotolock

Assembly instructions

It is not allowed to mix the ABC™ Building Block system
with similar systems produced by other manufacturers.

Press Rotolock + ABC Building
Block together.

Plug this assembly on top of the
swivel (1st/safety position).

Define the orientation.

Click the ABC Building Block into
the 2nd/locked position.

Repair instructions

When using the Raufoss ABC™ system, the exchange of valves, air
reservoirs, air bellows etc. can be performed without any problem.

Before starting to work on the couplings:

» Remove air pressure completely out of the pneumatic system,
to be able to release the tubing / couplings.

» Remove cable ties close to coupling. Tube must be accessible (as
straight as possible)

* Clean the push-in area around the tube / the locking area of the
Building Block. Make sure that no dirt or contamination will be
pushed into the tube or coupling

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

64

www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON « RAUFOSS
INFORMACION RAUFOSS ABC ABC PRODUCT INFORMATION

Manejo util de desconexion Handling of ABC Release Tool

Instrucciones de montaje Assembly intstructions

INSTRUCCIONES PARA LA DESCONEXION DEL TUBO INSTRUCTION FOR TUBE RELEASE

* Push the tube to the bottom of the
coupling to move the grip ring out of
locking position.

* Girando el tubo apretar hacia el racor.

e Check that the Release Tool is not

Wil ge 6 Tl 6ol Gl DLE damaged or blunt. If so, then replaceiit.

estado, en caso contrario sustituirlo.
« Apply Release Tool on to tube.
* Colocar el atil sobre el tubo. PRY

* Ensure tight contact between Release

» Asegurar el agarre entre el tubo y Tool and tube

la herramienta.

* Push the Release Tool to stop with the
flange at the top of the coupling without
using extensive force.

« Apretarel atil hasta el fondo del racor,
sin ejercer una fuerza excesiva.

* Se puede utilizarun spray de silicona

para facilitar [a operacian previa « Silicone spray can be used to ease the

injection of the Release Tool.

» While pushing the Release Tool
towards the coupling; pull the tube
out. Rotating the tube may ease t he
release.

» Manteniendo apretado el Gtil hacia el
interior del racor tirar del tubo hacia
fuera.

* Retirar el atil.
irar el uti * Remove the Release Tool.

« Asegurar que el tubo esta en buen » Assure that tube end is clean and
estado, en caso contrario cortar la undamaged. If not cut the tube end.
SEIRCIBEREGER

* Clean the inside of the push-in coupling

« Verificar que el interior del racor (tube section), by sample with compressed
esté limpio. air, to remove eventual contamination,

secure that nodirt is going inside the port.

* Conectareltubo aplicando girandolo
levemente. b * Push-in the clean tube.

* Kongsberg Automotiverecomienda * Kongsberg Automotive recommends that
una cadencia de maximo de 5 each single push-in coupling experience a total
conexiones y desconexiones en la number of maximum five (5) tube assemblies
vida atil del racor. and releases inalifetime perspective.

En caso de no disponer de la herramienta adecuada, la desconexion In cases where ABC Release Tool is not available, the connection can
se puede realizar con racor y tubo al mismo tiempo. be released together with the tube.

El racor gira alrededor del tubo. The Push-In coupling is turning on the tube

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com

65



PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

GAMMA BRK/PS5 // BRK/P5
PIVOTE P5
Plug-in P5
Referencia S D S =S
Code
° 6237031 P5 1/8 NPTF 20 150 28
6237032 PS5 1/4" NPTF 20 100 34
6237033 PS5 3/8" NPTF 20 100 38
6237034 P5 1/2" NPTF 22 100 57
6237021 P5 G1/4" 20 125 33
D 6237026 P5 R3/8" 20 100 39
7777777777777 6237027 P5 R1/2" 22 100 63
6237010 PS5 M10x1,0 17 175 25
6237012 P5 M12x1,5 177 150 29
6237014 P5 M14x1,5 20 150 30
6237016 P5 M16x1,5 22 125 33
6237017 P5 M22x1,5 28 75 48
6237019 P5 M26x1,5 32 59 77

Sin junta térica en la rosca. / Without o-ring sealing against port.

PASAMUROS P5
Plug-in P5, for bulkhead
- Referencia g D2 L =~ & 44
Wf, . 6237043 P5 M22x1,5 3/8NPTF 20 28 50 57
[ 6237036 P5 M22x1,5 M16x1,5 24 28 50 75

66

PASAMUROS P5 CON CONO
Plug-in P5, with 24° cone for bulkhead
s N Referenda g D1 K L = T 4
6237037 P5 M18x1,5 K24°-12 24 28 60 75

Q|

P9

Por favor lea las instrucciones de montaje en la pagina 68.
Please refer to assembly instructions on page 68 for limitations of use.

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
GAMMA BRK/PS5 // BRK/P5

CONECTOR ACODADO P5
90° push-in coupling, for plug-in P5

W s T
! - 623 6816 6x1 P5 125 4
1 623 6826 8x1 PS5 100 53
1 623 6991 101 Ps5 80 62
1 1 623 6814 10x1,25 PS5 70 62
1 6236824  10x1,5 Ps5 80 63
1 623 6836 12x1,5 PS5 75 68
623 6992 15x1,5 PS5 40 94
623 6993 15x2 PS5 40 89
623 6840 16x2 PS5 40 92
ADAPTADOR P5
Connector, for plug-in P5
q Refg;zrelua S D1 >~ Ty 4t

\
I : ! 623 7057 P5 M22x1,5 28 130 41
|
\
\
|

CODO 45° P5
45° elbow, for plug-in P5

Referencia 1
Code S D1 ™ | 4
623 6832 P5 M16x1,5 80 43

CODO 90° P5
90° elbow, for plug-in P5
Refgrencia S D =
ode
623 6803 P5 M12x1,5 80 58
623 6833 P5 M16x1,5 90 45

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 67




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
GAMMA BRK/PS5 // BRK/P5

CODO DOBLE 90° P5
Union E for plug-in P5 2xthread

~ Referencia o
Eﬂ’ ) : (ql , Code 5 D ™ | 4l
AW A |
< ! 623 6845 P5 M16x1,5 40 68
|
|
|
‘ =
|

TE LATERAL P5
Union L, for plug-in P5 2xthread
Referencia 4
NS
\ Code . L i | Al
623 6804 P5 M12x1,5 50 86

\
\
|
|
|
: h 623 6834 P5 M16x1,5 50 61
|
|
\
\
|

TE CENTRAL P5
Union T, for plug-in P5 2xthread

Referencia S D % A

=\ i S & Code
/\ :’L : " 623 6805 P5 M12x1,5 50 86
) ™
623 6835 P5 M16x1,5 50 62
el
|
|

CODO 3 ViAS PS5
3 - way block, for plug-in P5 2xthread
Referencia Fer
e S D ™ | 4
623 6846 PS5 M16x1,5 50 66

CRUZ P5

4 - way cross block, for plug-in P5 3xthread

; ) Referencia S D o 4t

| Code
- j : ” 623 6838 P5 M16x1,5 40 78
o | |
3 )) | r/

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

68 www.montcada.com




PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS

GAMMA BRK/PS5 /[ BRK/P5

CRUZ FORMA “L” P5
4 - way block L, for plug-in P5 3xthread

Referencia 4
Code = - o |4
623 6839 P5 M16x1,5 35 80
CRUZ FORMA “T” P5
4 - way block T, for plug-in P5 3xthread
Referencia By
b S D W | 4f

( 623 6837 P5 M16x1,5 35 80

CODO 90°
90° elbow, 2xthread
Referencia s
K
: o o D1 D2 ™ 4
| 623 7823 M12x1,5  M12x1,5 100 47
} 623 7862 M16x1,5  M16x1,5 80 52
1 ((l 623 7865 M16x1,5  M18x1,5 70 58
| \
‘ 623 7867 M22x1,5  M22x1,5 40 80
|
TE
Union T, 3xthread
o . Referencia I
, = 1 ,([(' 6237825  M12x15 80 64
° ®Q)‘= | | 6237864  M16x1,5 50 68
= | 623 7868 M22x1,5 30 95
|
D
0 |
CRUZ
4 - way cross block, 4xthread
Referencia 41
D él
Code D %
) 623 7828 M16x1,5 40 81

m\ gi 3 ﬂ} J

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 69




70

PLASTIC AND BRASS FITTINGS || RACORERIA PLASTICO Y LATON - RAUFOSS
INFORMACION BRK/P5 BRK/P5 PRODUCT INFORMATION

Montaje del tubo Tube assembly

Instrucciones de montaje Assembly information

Cortar el tubo a la medida con un angulo recto E—W-\ The tube has to be cut at 90°. A maximum
10° max

(90°). No obstante una desviacién de como
maximo de 10° es aceptable como tolerancia.

-

deviation of 10° is allowed.

c—
La conexion del racory el tubo se realiza manualmente sin Assembly of the push-in couplings and the tube is performed
necesidad de utilizar ninguna herramienta y simplemente manually without using a tool. Push-in is simplified by
girando y empujando el tubo al mismo tiempo. La posicion pushing and turning the tube at the same time. Positioning is
correcta del tubo se obtiene al llevar a cabo ambos pasos: accomplished in two quite distinct stages:
Paso 1: La extremidad del tubo traspasa la pinza de agarre del racor. Stage 1: Passing the locking ring.
Paso 2: El tubo alcanza el fondo del racor. Stage 2: Reaching the position length.
Las cargas maximas requeridas para la conexion del tubo se The maximum required push-in forces are shown in
muestran en la siguiente tabla 2 y corresponden aproximadamente table 2, approx. 2/3 of the given values is normal.

a2/3delosvalores indicados.

Para un control visual, se recomienda marcar la Marking the push-in length, mentioned in table 2, at
longitud indicada en la tabla sobre el tubo. the end of the tube is recommended for visual control.
@ Tubo externo Longitud de introduccion Maxima fuerza de introduccion
@ External tube Push-in length Max. push-in force

4 mm 17,2 mm 70N
6 mm 19,5 mm 80N
8 mm 20,5 mm 90 N
9 mm 22,1 mm 95N
10 mm 24,0 mm 100N
11T mm 23,0 mm 105N
12 mm 25,0 mm 10N
15 mm 27,0 mm 125N
16 mm 27,0 mm 130 N
18 mm 27,0 mm 130N
25 mm 29,0 mm 150 N

1/8” 19,5 mm 80N
3/8”" 23,5 mm 100N

1/2"” 25,5 mm 10N
5/8”" 27,5 mm 130N

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



adaptadores para
diapress

air springs fittings

./ /, >



AIR SPRINGS FITTINGS || ADAPTADORES PARA DIAPRESS « VOSS

ADAPTADOR HEMBRA
Femele adapter

Referencia Rosca

Code Thread
227EB401 M16
227EB402 M22

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

72 www.montcada.com




racores de
conexion rapida

push-in fittings

./ /, >



PUSH-IN FITTINGS || RACORES DE CONEXION RAPIDA - DMFIT

RACORES EN ACETAL (NEGRO/METRICO) // ACETAL FITTINGS (BLACK/METRIC)

74

UNION DOBLE
Union connector

Referencia Tubo (mm) Tubo (mm)
Tube (mm)

Code
AUC 0404M
AUC 0505M
AUC 0604M
AUC 0605M
AUC 0606M
AUC 0804M
AUC 0805M
AUC 0806M
AUC 0808M
AUC 1004M
AUC 1005M
AUC 1006M
AUC1008M
AUC1010M
AUC 1208M
AUC 1210M
AUC1212M
AUC1510M
AUC1512M
AUC 1515M
AUC1612M
AUC 1615M
AUC1616M
AUC 1818M
AUC 2215M
AUC 2216M
AUC 2222M
AUC 2828M

4

00O 00O 00O 0O O OO O Ul

Tube (mm)

4

co oo un A 00O O LT A OO LT b~ WUI

=

500
500
500
400
350
400
300
300
300
300
300
250
250
250
200
150
200
100
100
100
100
100
100
60
50
50
50
40

113
Tee union

Referencia Tubo A (mm) Tubo B (mm) Tubo C (mm)
Tube A (mm) Tube B (mm) Tube C (mm)

Code
ATU 040404M
ATU 050505M
ATU 060606M
ATU 080808M
ATU 101006M
ATU 101010M
ATU 121210M
ATU 121212M
ATU 121012M
ATU 151010M
ATU 151510M
ATU 151512M
ATU 151515M
ATU 151522M
ATU 161616M
ATU 161622M
ATU 181815M
ATU 181816M
ATU 181818M
ATU 221515M
ATU 222210M
ATU 222215M
ATU 221616M
ATU 222216M
ATU 222222M
ATU 282815M
ATU 282828M

4
5
6
8

10

10

12

12

12

15

15

15

15

15
16
16

18

18

18

22

22

22

22

22

22

28

28

4
5
6
8

10

10

12

12

10

10

15

15

15

15
16

16

18

18

18
15

22

22
16

22

22

28

28

4

g 0 o Ui

S

300
350
300
250
150
150
100
100
100
50
50
50
50
40
40
40
30
30
30
20
20
20
20
20

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




PUSH-IN FITTINGS || RACORES DE CONEXION RAPIDA - DMFIT

RACORES EN ACETAL (NEGRO/METRICO) // ACETAL FITTINGS (BLACK/METRIC)

cobDo REDUCTOR
Elbow union Reducer

Referencia Tubo (mm) Tubo (mm) =4 Referencia Tubo A (mm) Tubo B (mm) =
Code Tube (mm)  Tube (mm) Code Tube A (mm) Tube B (mm)
AEU 0404M 4 4 700 ARD 0405M 4 5 800
AEU 0505M 5 5 700 ARD 0406M 4 6 700
AEU 0606M 6 6 400 ARD 0408M 4 8 700
AEU 0804M 8 4 500 ARD 0506M 5 6 700
AEU 0805M 8 5 400 ARD 0508M 5 8 700
AEU 0806M 8 6 300 ARD 0608M 6 8 600
AEU 0808M 8 8 300 ARD 0610M 6 10 500
AEU 1005M 10 5 300 ARD 0810M 8 10 400
AEU 1006M 10 6 300 ARD 0812M 8 12 300
AEU 1008M 10 8 200 ARD 1012M 10 12 300
AEU 1010M 10 10 200 ARD 1015M 10 15 250
AEU 1206M 12 6 200 ARD 1215M 12 15 200
AEU 1208M 12 8 200 ARD 1518M 15 18 150
AEU 1210M 12 10 150 ARD 1522M 15 22 100
AEU 1212M 12 12 150 ARD 1618M 16 18 100
AEU 1515M 15 15 80 ARD 1622M 16 22 100
AEU 1616M 16 16 80 ARD 1822M 18 22 80
AEU 1818M 18 18 60 ARD 2228M 22 28 50
AEU 2215M 22 15 50 .
AEU 2216M 22 16 50 Lt
AEU 2222M 22 22 40 Bl
AEU 2828M 28 28 20

DIVISOR 2 VIAS
2 - way divider

Referencia Tubo (mm) %
Code Tube (mm)

APLO4M 4 1000

Referencia Entrada (mm) Salida (mm) % APLO5M 5 1000

Code Tube in (mm) Tube out (mm) APLOGM 6 1000
ATWD 0404M 4 4 400

APLOSM 8 700

ATWD 0606M 6 6 300 APLIOM 0 o0
ATWD 0808M 8 8 200

ATWD 1008M 10 8 150 SEL b 12 400

ATWD 1010M 10 10 150 APL1SM 15 250

ATWD 1012M 10 12 100 APL18M 18 250

ATWD 1212M 12 12 100 APL22M 22 200

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 75




76

PUSH-IN FITTINGS || RACORES DE CONEXION RAPIDA - DMFIT
VALVULAS (NEGRO/METRICO) // VALVES (BLACK/METRIC)

LLAVE DE PASO EN UNION DOBLE
Hand valve union connector

RACORES EN ACETAL (GRIS/PULGADAS) // ACETAL FITTINGS (GRAY/INCH)

UNION DOBLE
Union connector

Referencia Tubo (mm) Tubo (mm)

Code
AUC 0101
AUC 0303
AUC 0401
AUC 0403
AUC 0404
AUC 0501
AUC 0503
AUC 0504
AUC 0505
AUC 0601
AUC 0603
AUC 0604
AUC 0605
AUC 0606
AUC 0705
AUC 0706
AUC 0707
AUC 067.5

Tube (mm)
5/32
3/16
1/4
1/4
1/4
5/16
5/16
5/16
5/16
3/8
3/8
3/8
3/8
3/8
1/2
1/2
1/2
3/8

Tamarno
Size

Pequeiio
Small

Grande
Large

Tube (mm)
5/32
3/16
5/32
3/16
1/4
5/32
3/16
1/4
5/16
5/32
3/16
1/4
5/16
3/8
5/16
3/8
1/2

7.5mm

™

500
500
500
400
350
400
400
300
300
300
300
250
250
250
200
200
150
250

Referencia
Code

AHUC 0606M
AHUC0808M
AHUC 1010M
AHUC 1212M
AHUC 1510M
AHUC 1512M
AHUC 1515M
AHUC 1610M
AHUC 1616M
AHUC 2222M

TE

Tllb()(n"n)
Tube (mm)

6
8
10
12
15
15
15
16
16
22

Tee union

Whe

Referencia Tubo A (mm) Tubo B (mm) Tubo C (mm)
Tube A (mm) Tube B (mm) Tube C (mm)

Code
ATU 010101
ATU 030303
ATU 040404
ATU 040405
ATU 050505
ATU 060604
ATU 060606
ATU 070706
ATU 070707

5/32
3/16
1/4
1/4
5/16
3/8
3/8
1/2
1/2

111b0(nun)
Tube (mm)

6
8
10
12
10
12
15
10
16
22

5/32
3/16
1/4
1/4
5/16
3/8
3/8
1/2
1/2

%

150
100
100
70
50
50
40
50
50
20

5/32
3/16
1/4
5/16
5/16
1/4
3/8
3/8
1/2

%

350
350
300
250
250
150
150
100
100

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




PUSH-IN FITTINGS || RACORES DE CONEXION RAPIDA - DMFIT
RACORES EN ACETAL (GRIS/PULGADAS) // ACETAL FITTINGS (GRAY/INCH)

cobo DIVISOR 2 ViAS
Elbow union 2 - way divider

Referencia Tubo (mm) Tubo (mm) % Referencia Entrada Salida %
Code Tube (mm) Tube (mm) Code Tube in Tube out

AEU 0101 5/32 5/32 700 ATWDO0101 5/32 5/32 400
AEU 0303 3/16 3/16 700 ATWDO0404 1/4 1/4 300
AEU 0404 1/4 1/4 350 ATWDO0505 5/16 5/16 200
AEU 0501 5/16 5/32 400 ATWDO0605 3/8 5/16 150
AEU 0503 5/16 3/16 400 ATWDO0606 3/8 3/8 150
AEU 0504 5/16 1/4 300 ATWDO0607 3/8 1/2 100
AEU 0505 5/16 5/16 300 ATWDQ707 1/2 1/2 100
AEU 0603 3/8 3/16 200
AEU 0604 3/8 1/4 200
AEU 0605 3/8 5/16 200
AEU 0606 3/8 3/8 200
AEU 0704 1/2 1/4 150
AEU 0705 1/2 5/16 150
AEU 0706 1/2 3/8 150
AEU 0707 1/2 1/2 150

REDUCTOR
Reducer

Referencia Tubo A (mm) Tubo B (mm) ™ Referencia Entrada =3
Code Tube A (mm) Tube B (mm) Code Tube in

ARDO104 5/32 1/4 800 APLO1 5/32 1000
ARDO305 3/16 5/16 700 APLO3 3/16 1000
ARDO306 3/16 3/8 600 APLO4 1/4 1000
ARDO405 1/4 5/16 700 APLO5 5/16 700
ARDO406 1/4 3/8 500 APLO6 3/8 500
ARDO506 5/16 3/8 400 APLO7 1/2 400
ARDQO507 5/16 1/2 300
ARDO607 3/8 1/2 300

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 77




PUSH-IN FITTINGS || RACORES DE CONEXION RAPIDA « DMFIT

NOTAS / NOTES

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

78 www.montcada.com




racoreria neumatica

./ /,

plastic fittings

4



80

PLASTIC FITTINGS || RACORERIA NEUMATICA

ROSCA CONICA BSPT BSPT thread
XHPE
XHPE
Referencia Referencia Referencia
Code Code Code
XHPEG PC 0601 PL 0601
XHPES PC 0602 PL 0602
XHPE10 PC 0801 PL 0801
XHPE12 PC 0802 PL 0802
XHPU XHPG XHPV
XHPU XHPG XHPV
Referencia Referencia Referencia
Code Code Code
XHPU4 XHPG0806 XHPV6
XHPU5 XHPG1008 XHPVS
XHPUB XHPG1210 XHPV10
XHPU7 XHPV12
XHPUS
XHPUS ROSCA CILINDRICA BSP BSP thread
XHPU10
XHPUT PC-G PL-G
XHPU12 PC-G PL-G
XHPU14 Referencia Referencia
XHPUTS Code Code
PC-G 0601 PL-G 0601
XHPU16
PC-G 0602 PL-G 0602
PC-G 0801 PL-G 0801
PC-G 0802 PL-G 0802
NOMENCLATURE
A B C
PC 06 01
A Modelo B Diametro tubo CMedida rosca
CODIGO 04 706 [ 08 [ 10 [ 12 [ 16 pEEEmmm-_—_—_—_—_———_——A
Diametro tubomm | 4 6 8 10 | 12 16 | ESTE TIPO DE RACORERIA NO |
| ESTA HOMOLOGADA PARA EL 1
CODIGO 01 02 03 04
Medida rosca | R1/8" R1/4" R3/8"| R1/2" 1 CIRCUITO PRINCIPAL DE FRENO. |
Tt oo for ttas I These fittings are not suitable I
@ TUBO 04-06-08-10-12-16 I for brake system. I

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com



racoreria en
laton niquelado

nickel plated fittings

./ /, y



NICKEL PLATED FITTINGS || RACORERIA EN LATON NIQUELADO

UNION IGUAL
Union connector

Referencia
COdeA|=t;LN551sz%

A103 4 4 84 90 250 140 50 272 1,6 10
A103 5 5 98 M0 31,0 150 50 272 1,6 10
A103 6 6 n7 12,0 340 160 50 272 1,6 10
A103 8 8 13,7 140 370 175 50 2.2 1,6 10
A10310 0 154 170 45 202 50 272 1,6 10
A103 12 12 183 190 335 192 52 22 1,6 10
A10314 4 205 21,0 45 202 52 272 1,6 10

ADAPTADOR MACHO BSP CODO IGUAL
BSP male connector Union elbow

Saferenla || Do [t Refaeeda e R =B
A1016-1/4 G1/4 6 A104 3 3 - - 137 6 10
A1016-1/8 G1/8 6 A104 4 4 35 90 175 8 10
A1018-1/4 G1/4 8 A104 5 5 60 10 210 9 10
A1018-1/8 G1/8 8 A104 6 6 40 127 200 9 10

A104 8 8 50 142 225 1 10
TE IGUAL A104 10 0 58 165 260 13 10
Union connector A104 12 12 73 19,5 26,5 15 10
A10414 14 83 215 285 17 10

CODO GIRATORIO BSP

Male elbow swivel BSP

Referencia Rosca @ exterior
Code Thread O/D

A1216-1/4  G1/4 6
: A1216-1/8  G1/8 6
Referencia
Code A C F L M= A1218-1/4  Gl/4 8
A105 3 - - 214 137 10 A1218-1/8  G1/8 8

3 6

A105 4 4 35 90 350 175 8 10

A105 5 5 60 1,0 420 21,0 9 10

A105 6 6 40 127 400 200 9 10

A105 8 8 50 142 450 225 1 10

A0510 10 58 165 520 260 13 10 P m o
A0S12 12 73 195 530 265 15 10 I NOAPTOPARA CIRCUITOS DE FRENO 1
AMO514 14 83 215 570 285 17 10 i No suitable for brake system. i

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

82 www.montcada.com




o o . A
L R R g *
L R *s’
0.0‘0’0
0’0

kits de racoreria

fittings assorted box

./ /, >



FITTINGS ASSORTED BOX || KITS DE RACORERIA
KIT DE EMERGENCIA // EMERGENCY KIT Raufoss”

Dl | couplings

(@)

REDUCTOR M22-M16
Adapter M22-M16

Compatible concualquiersistemade frenado equipado
con tubos de @8 y @12, con rosca M16x1,5 y M22x1,5.

Suitable for any brake system equipped with tubes of 08
and @12, with thread M16x1,5 and M22x1,5.

LATON Plzﬁ/(o
BRAss  PUSTIC

@

DOBLE UNION REGULAR TE REGULAR
Union 1egular Tee 1egulm

CODO 90° REGULAR
Elbow 90° regula;

H  UTIL DE CONEXION 012
: Release tool @12

2,0(5 a
CONECTOR MACHO @8 CONECTOR MACHO @12
Push-in threadless @8 Push-in threadless @12

UNA AMPLIA
VARIEDAD DE

COMBINACIONES

A wide variety of
combinations.

PIVOTE P5 M16
Plug-in P5 M16

-._ﬂq&;. -
CONECTOR MACHO @12 M16 CONECTOR MACHO @8 M16 | UTIL DE CONEXION @8
Push-in @12 M16 Push-in @8 M16 Release tool @8

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




FITTINGS ASSORTED BOX || KITS DE RACORERIA

KIT TOMA DE PRESION (ITV) // TESTING PRESSURE KIT
rererencia // cope: 260 KITM16 SIN P5

Racor Recto Original Conexion T Pasamuros+Tuerca

LATdy

Boca 11

OE straight fitting Tee fitting Bulkhead + nut Inlet 11 BRASS
Tubo Original — = 3
OE tube ' >

Racor Recto
Straight fitting

Racor Recto Pasamuros+Tuerca
Straight fitting ~ Bulkhead + nut

" Toma de Pruebas
Test point

L

rererencia // cope: 2600 KITM16 =
Racor Recto Original Conexion T Conector P5 M16 Boca T LATON
OE straight fitting  Tee fitting  Plug-in P5 M16 In%? i1 1%7/4 sy

Tubo Original
OE tube *

Racor Recto
Straight fitting

Racor Recto Pasamuros+Tuerca

Straight fitti B t
raight fitting ulkhead + nu & Toma de Pruebas

Test point
L

+

REFERENCIA // CODE: 26OKITM22 -

Racor Recto Original Conexion T  Conector P5 M22 Boca 11 [ATO'/V
OE straight fitting  Tee fitting ~ Plug-in P5 M22

Inlet 11 B"%ff
Tubo Original s Tl
OE tube R P
' Toma de Pruebas

Racor Recto Pasamuros+Tuerca
Straight fitting  Bulkhead + nut
2 Test point
el o
Raufoss

KONGSBERG o G'DUPﬁﬂgS +
Consultenos por el tubo negro PA 25 metros @6x8 y por la placa de soporte para racores.
Ask for information about PA 25m tubing size 6x8, and fittings support plate.

Racor Recto
Straight fitting

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 85



FITTINGS ASSORTED BOX || KITS DE RACORERIA
LATON Y PLASTICO // BRASS AND PLASTIC

—\

W

al
oAsa16a2

U2

Referencia
Code

KONGSB“G‘H
e

M0O100

Raufoss’
couplings

x4 x4 x4 x4 93351622 x2 x2
93150012 93150014 93150016 93150022 PASAMUROS 93160016 93160022 X2
PIVOTE REGULAR | PIVOTEREGULAR | PIVOTEREGULAR | PIVOTEREGULAR |ROSCADO REGULAR PIVOTE HD PIVOTE HD 192050030
M12x1,5 Ml4x1,5 MI6x1,5 M22x1,5 M22x1,5 Ml6x1,5 M22x1,5 UNION Y / REGULAR
x4 x4 x4 I x4 x2 x2 x2
90206005 90208005 90210005 90212005 90212006 90215006 90216006 x1
CONEXION RAPIDA | CONEXION RAPIDA | CONEXION RAPIDA | CONEXION RAPIDA | CONEXION RAPIDA | CONEXION RAPIDA | CONEXION RAPIDA
S/ROSCA REGULAR | S/ROSCA REGULAR | S/ROSCA REGULAR | S/ROSCA REGULAR S/ROSCA HD S/ROSCA HD S/ROSCA HD 92050070
D6x1 D8x1 D10x1 D12x1,5 D12x1,5 D15x1,5 D16x2 CRUZ REGULAR
I| l I| l I| l x1 96606010 / B6
x1 x2 x4 x1 96608010 / @8
x4 X2 96560006 96550006 96550005 ﬁ ool ; 812
92050090 92060010 Ty T DOBLE I DORLE PIVOTEDOBLE X1 96616010 / D16
CODO 90° REGULAR TE T&L HD HD HD A REGULAR REGULAR UTIL DE CONEXION
x4 x2 x1 x2 x2
92050010 96150106 92050015 92050045 92060090
TE T&L REGULAR REDUCCION HD A REGULAR CODO F REGULAR CODO 45° REGULAR CODO 90° HD

\

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




FITTINGS ASSORTED BOX || KITS DE RACORERIA
LATON // BRASS

Referencia
Code

2600096

Raufoss

soncseenc o c aup/ Iﬂg S

x4
X2 X2 X2 X2 90106016 90106022 90108016 90108022
2607012 2607014 2607016 2607017 CONECTOR MACHO | CONECTOR MACHO | CONECTOR MACHO | CONECTOR MACHO
PIVOTE P5/M12x 1,5 | PIVOTE P5/ M14x 1,5 | PIVOTE P5/ M16 x 1,5 | PIVOTE P5 / M22 x 1,5 Oix6 1 M16 04x6 / M22 06x8 / M16 O6x8 / M22

X2 X2 X2 x1 90110016 90110022 90112016
2607862 2606803 2606833 2607828 CONECTOR MACHO | CONECTORMACHO | CONECTORMACHO
CODO 90°/ M16 CODO 90° P5/ M12 CODO 90° P5/ M16 CRUZ/ M16 ?8x10/ M16 ?8x10 / M22 @9x12 / M16

=R

Sy

x4 x4 x4

x2 X2 X2 90112022 90115016 90115022
2607867 2607864 2607868 2606835 CONECTOR MACHO | CONECTORMACHO | CONECTOR MACHO
CODO 90°/ M22 TE / M16 TE / M22 TE P5/M16 @9x12 / M22 012x15/ M16 ?12x15 / M22

x2 x2 x1
2607607 2607608 TC-XH
¥ TAPON CIEGO / M16 ¥ TAPON CIEGO / M22 CORTATUBOS

\_ _/

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.co




FITTINGS ASSORTED BOX || KITS DE RACORERIA

LATON // BRASS (9 NORGREN

REFERENCIA // CODE: MOI 30

x1 x1
100200400 9745030(
4mm E 10mm
T
x1 x1 x1
97450305 | CORTATUBOS [ 97450315
8mm TC-XH 15mm
x1 x1
97450304 9745030
6mm 12mm

- f—
.
.

REFERENCIA // CODE MO 140

x1 x1 '
100200400 x1 x1
4mm 97450315 | 97450392
97450304 15mm 14mm
6mm
x1 x1
97450308 | CORTATUBOS
16mm TC-XH
x1 x1
97450305 x1 x1
mm 97450313 97450336
97450306 9mm 11mm
mm

x1 x1
100200400 9745030(
4mm - 10mm
T
x1 x1 x1
97450305 | CORTATUBOS | 97450307
8mm TC-XH 12mm
x1 x1
97450304 9745030(
6mm 10mm

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

88 www.montcada.com




FITTINGS ASSORTED BOX || KITS DE RACORERIA

| NO APTO PARA CIRCUITOS DE FRENO 1 PLASTICO // PLASTIC

I No suitable for brake system. I

i) 6 x4 8 x .
- : XU e XHPUIZ XHIPES s
S e iy NI |t T 1 o LAON | (30 il e RO
“. “.I E ‘!. 4 H

—

2 10 6 I 3 x3

LA by T XHPCI XHPES Xnri0 XHFVID

L e I | U pl T4, st COODSE i

Referencia
Code

x4 =
XHPG0806 x6 x4 x8 x4 x4
UNION REDUCIDA XHPU4 XHPU9 XHPU12 XHHPE6 XHPV6
8mm - 6mm UNION / 4mm UNION / 9mm UNION / 12mm TE / 6mm CODO 90° / 6mm
x4 —
XHPG01008 x10 x6 x6 x3 x3
UNION REDUCIDA XHPU6 XHPU10 XHPES XHPE10 XHPV10
10mm - 8mm UNION / 6mm UNION / 10mm TE / 8mm TE / 10mm CODO 90°/ 10mm
x4 @ % 4 _—
XHPG01210 x x: x2
UNION REDUCIDA XHPU16 XHPE12 XHPU11 XHPVI12
12mm - 10mm UNION / 16mm TE/12mm UNION / 11mm CODO 90°/ 12mm

x2 x4
TC-XH XHPU15
CORTATUBOS UNION / 15mm
x10 x4
XHPUS8 XHPVS8
UNION / 8mm CODO 90° / 8mm

0

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com




FITTINGS ASSORTED BOX || KITS DE RACORERIA

PLASTICO // PLASTIC g Apro PARA GIRCUITOS DE FRiNo
I No suitable for brake system. I

oe | we EW

x4
XHPU4 \Il.\ l 15
UNION | dmm UNION /1 S L l‘]ll \‘l | 1%
x2 3 x2
\upus xurui XHPES KHPVe
UNKN § b LUINION /12 TE / fieian MY S | iy
xd x2 x2
\ XHPUS \ NUPEL2 XUPEID Svio 2 \m-r nm =

Referencia ' [w=| s% ol A
Code

1

x2

x4 x1 x1 XHPGO0806
XHPU4 XHPU15 TC-XH UNION REDUCIDA
UNION / 4mm UNION /15mm CORTATUBOS 8mm / 6mm
x2
x4 x2 x4 x2 XHPG1008
XHPU6 XHPU12 XHPE6 XHPVe6 UNION REDUCIDA
UNION / 6mm UNION / 12mm TE / 6mm CODO 90° / 6mm 10mm / 8mm

x1
x4 x2 X2 x2 XHPG1210
XHPUS8 XHPE12 XHPE10 XHPV10 UNION REDUCIDA
UNION / 8mm TE / 12mm TE / 10mm CODO 90°/ 10mm 12mm / 10mm

i
|

x4 x2 x4 x1
XHPU10 XHPVS XHPES XHPV12
k UNION / 10mm CODO 90° / 8mm TE / 8mm CODO 90°/ 12mm )

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

90 www.montcada.com




FITTINGS ASSORTED BOX || KITS DE RACORERIA

PLASTICO // PLASTIC

Referencia
Code

x1
XHPU12

12mm

XHPU4

4mm

x2
XHPUS8 | CORTATUBOS | XHPU10
8mm TC-XH 10mm
x2 x1
XHPU6 XHPU12
6mm 12mm
G J

If the product you are looking for is not in this catalogue, please contact us for information on alternative solutions.

www.montcada.com 91




FITTINGS ASSORTED BOX || KITS DE RACORERIA

NOTAS / NOTES

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

92 www.montcada.com




conexiones
neumaticas

air brake connectors

./ /, y



Tubo de poliamida PA (negro)

Nuestros tubos ofrecen las siguientes caracteristicas:

» Fabricados con poliamida 11/12. Fabricados con
poliamida 11/12.

» Las propiedades fisicas y dimensiones se mantienen
constantes, a pesarde los cambios de humedad.

» Baja densidad.

* Alta resistencia exterior en cualquier tipo de
condicion climatica.

* Muy buena resistencia a la abrasién.

e Excelente resistencia de rotura.

* Son ideales para la conduccion de aire,
gasoleos, lubricantes y fluidos hidraulicos.

Aplicaciones:

DIN 73378

Conducciones de combustible e instalaciones
neumaticas.

DIN 74324
Sistemas de freno neumatico en vehiculos de
motor.

Referencia @ INTERIOR x @ EXTERIOR
Code In x out @

31010001 2x4

- 31010003 3x5

S 31010002 4x6

S 31010004 6x8

I 31010005 6x9

£ 31010006 8x10

2 31010007 7,5x10

Q 31010008 8x11

Q' 31010009 9x12
31010010 10x14
310100M 12x15
31010012 12x16
31010013 14x18

Para otras medidas y colores, consultar.
For others sizes and colors, please ask for
availability.

AIR BRAKE CONNECTORS || CONEXIONES NEUMATICAS

PA Tubing (black)

Our tubes provide the following features:

* Made from Polyamide 11/12.

* Good dimensional stability, despite dampness
changes.

* Low density.

» Usable in a wide environmental conditions.

* No corrosion.

* Very low coefficient of friction.

+ Compatible with several fluids, such as compressed
air, fuels, chemicals.

Aplications:

DIN 73378

This standard specifies requirements for and
methods of testing polyamide tubing intended
for the transport of fuel in motor vehicles.

DIN 74324
Air brake systems for road vehicles.

CORTATUBOS

Cutter

Referencia

Code TC-XH

TIJERAS
Scissors

Referencia

Code 2609013

Si el producto que esta buscando no se encuentra en este catalogo, por favor contacte con nosotros para mas informacion o soluciones alternativas.

www.montcada.com




VALENCIA

Cami del fus, 43; P.I. Massanassa
46470 Massanassa (Valencia) - Spain
Tel: (+34) 96 125 32 50

Fax: (+34) 96 125 32 68
valencia@montcada.com

MADRID

C/ de la Resina, 29B
28021 Madrid - Spain
Tel: (+34) 91 674 58 48
Fax: (+34) 91 674 58 47
madrid@montcada.com

BARCELONA

C/ de les Garrigues, 6; P.I. Can Nadal
08185 Lliga de Vall (Barcelona) - Spain
Tel: (+34) 93 562 44 50

Fax: (+34) 93 562 45 41
montcada@montcada.com

DG4049 Sept. 2018

montcada
EEE S..

montcada
EEE Vi

A
www.montcada.com . :



